% E2ARA 3 - SERIES

STAINLESS STEEL CENTRIFUGAL PUMPS

End suction centrifugal pumps made of stainless steel AlISI 304 (3 Series) and AlSI 316L
(3L Series). Suitable for water boosting, heating systems, air-conditioning, washing systems,
irrigation, cooling and many other industrial applications.

SPECIFICATIONS TECHNICAL DATA
* Maximum working pressure : 10 bar » Asynchronous 2 and 4 poles motor
e Maximum liquid temperature : from -10°C to +90°C * Insulation: Class F (B for temperature rise)
from -10°C to +110°C (L-H-HS versions) ¢ Protection degree: IP55
» 1~230V % 10%, 50Hz,
MATERIALS 3~220-240/380-415V + 5% (up to 4kW included), 50Hz
* Pump body and casing cover in: 3~380-415/660-720V = 10% (5.5kW and above), 50Hz
- AISI 304 for 3 Series 32-125/160/200 » Thermal protection to be provided by the user
40-125/160/200
50-125/160

65-125/160/200
- AISI 316L for 3L Series 32-125/160/200
40-125/160/200
50-125/160 Available in 4 different versions, 2 and 4 poles
65-125/160/200
- AISI 316 microcasted for 3L Series 65-250
80-160/200/250

monobloc with extended motor shaft

* Impeller in:
- AISI 304 for 3 Series 32-125/160/200
40-125/160/200
50-125/160
- AISI 316L for 3L Series 32-125/160/200
40-125/160/200

e 3S monobloc with standard motor and
= flexible coupling
L 3LS

50-125/160 N
- AISI 316 microcasted for 3 Series 65-125/160/200 S ' 3P | on basement with standard
3L Series 65-125/160/200 | | - bT motor and flexible coupling
65-250 S LR 3IP

80-160/200/250

e Mechanical seal in; g — 3PF @— 3SF bareshaft
- Carbon/Ceramic/NBR for 3 Series 32-125/160/200 i pump
201281160200 | ful—1 3LPF _ 3LSF

50-125/160
65-125/160/200

- SIC/SIC/FPM for 3L Series 32-125/160/200
40-125/160/200
50-125/160
65-125/160/200/250
80-160/200/250

- Special mechanical seal available on request

63



% E2ARA 3 - SERIES

PERFORMANCE CHART 2 Poles

at 2900 min (according to ISO 9906 Annex A)

U.S.g.p.m. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000
|

| | 11 1 1 I I T | | 11 | | | |
! | | ULV | L | | L | I |
Imp.gp.m. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000

120
100 350
S8 — 300
2
y 8 ‘z_"'% —250 H
[m] B [#]
%5
60 ‘%\% — 200
50 % \‘
— 150
o BN
Y |
TN
¢4
i %}\‘f 75
NS\
20 :':#&’-’:‘.‘
\%
15 ‘%V;*\ 50
X
10
9 — 30
/
8 —25
7
6 yrl 20
5 1
100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000 4000 5000
Q [I/min]
T T 17T 1T T T 171 1 T T 1 T T T 1
6 7 8 910 12 14 161820 25 30 40 50 60 70 100 150 200 300
Q [m3h]
Version 3M 3S 3P 3LM 3LS 3LP
32-125 v v v v Y v
32-160 v v v v v v
32-200 v v v v v v
40-125 v v Y v Y v
40-160 v v v v v v
40-200 v v v v v v
50-125 v v Y v Y v
Pump 50-160 Vv v v Vv v v
size 50-200 v v Vv Vv Vv v
65-125 v v v v Y v
65-160 v v v v v v
65-200 v v v v v v
65-250 - . 8 . . .
80-160 . . .
80-200 - . - . .
80-250 . .

+/ = Available also with H and HS option for 32, 40, 50, 65-125/160/200
« = Available also with H option for 65-250, 80
- = Not available

64



% E2ARA 3 - SERIES

PERFORMANCE TABLE 32-40-50 2 Poles
Q=Capacity
Model kw HP |Imin 0 | 100 150 200 | 300 | 333 360 | 400 | 450 500 600 700 800 | 1000 | 1200
m‘h 0 6 9 12 18 20 22 24 27 30 36 42 48 60 72
H=Total head (m)

32-125/1.1(M) 11 15 225 | 21 199 | 184 | 141 12 - - - - - -
32-160/1.5(M) 15 2 295 | 28 265 | 245 | 19.2 17 - - - - -
32-160/2.2(M) 2.2 3 37 | 355 34 32 27 25 - - - - -
32-200/3.0 3 4 44 | 42 40 375 31 28 - - - - -
32-200/4.0 4 55 55 | 535 52 495 | 435 | 405 38 - - - =
32-200/5.5 55 75 705 | 69 675 65 58.5 - - - - - -
32-200/7.5 75 10 705 | 69 67.5 65 585 | 555 53 49 44 - - -
40-125/1.5(M) 15 2 20 - - 19 17.6 17 165 | 157 | 145 | 132 | 103 7
40-125/2.2(M) 2.2 3 265 - - 255 24 235 23 22 21 195 | 164 13
40-160/3.0 3 4 31 - - 295 | 275 27 265 | 255 24 225 20 17
40-160/4.0 4 55 40 - - 385 37 36 355 | 345 33 32 29 255
40-200/5.5 55 75 47 - - 455 44 43 425 41 395 38 35 31
40-200/7.5 75 10 58 - - 57 55.5 55 545 | 535 | 525 51 475 44
40-200/11 1 15 72 - - 71 70 70 695 | 685 | 67.5 66 63 59 - -
50-125/2.2(M) 2.2 3 19 - - - - - - 17.5 17 163 | 149 | 134 | 117 8 -
50-125/3.0 3 4 22 - - - - - - 205 20 196 | 184 17 154 | 11.8 8
50-125/4.0 4 55 265 - - - - - - 26 255 25 24 225 | 215 | 179 14
50-160/5.5 55 75 33 - - - - - - 31 305 30 285 27 255 22 18
50-160/7.5 75 10 40 - - - - - - 385 38 375 36 35 335 30 26
50-200/9.2 9.2 12.5 53 - - - - - - - - 50 49 475 | 455 | 405 34
50-200/11 1 15 59 - - - - - - - - 56 55 54 52 48 42
50-200/15 15 20 72 - - - - - - - - 70 69 68 66 62 57

(M) Single phase version only for 3M type

PERFORMANCE TABLE 65-80 2 Poles
Q=Capacity
Model kW | HP |[Umin 0| 600 | 700 | 900 | 1300 | 1500 | 1700 | 1900 | 2100 | 2200 | 2300 | 2400 | 2500 | 3000 | 3400 | 3600 | 3800 | 4000
mfh 0| 36 42 54 78 90 102 | 114 | 126 | 132 | 138 | 144 | 150 | 180 | 204 | 216 | 228 | 240
H=Total head (m
65-125/4.0 4 55 2221198 | 19 [ 173 [ 133 | 11 86 | 6.3 - - - - - - - - - -
65-125/5.5 55 75 27 - 24 | 222 18 | 157 | 133 | 10.8 8 -
65-125/7.5 75 10 32 - 295 | 278 | 235 | 211 | 187 | 161 | 134 | 12
65-160/7.5 75 10 32 - 30 | 286 | 248 | 225 | 199 | 171 | 142 - - - - - - - - -
65-160/9.2 9.2 | 125 36.5 - 345 | 328 | 288 | 265 | 239 | 21.1 | 183 | 16.8 - - - - - - - -
65-160/11 11 15 40.5 - 385 (371|331 309|284 | 258 | 23 [215| 20 - - - - - - -
65-160/15 15 20 48| - 455 | 44 40 | 378 | 353 | 326 | 296 | 28 | 265
65-200/15 15 20 535 - 51 49 44 | 415 | 384 | 353 | 318 | 30 - - - - - - - -
65-200/18.5 185 | 25 605 | - 585 | 56.5 | 51.5 | 49 46 43 1397 | 38 | 363 - - - - - - -
65-200/22 22 30 67| - 655 | 64 | 595 | 57 54 51 48 | 465 | 45
65-250/30 30 40 78 - - 77 | 7135 | 71 68 | 645 | 60 | 575 | 55 52 - - - - - -
65-250/37 37 50 89| - - 88 | 85| 8 |85 775 | 74 72 70 | 675 | 65 - - - - -
80-160/11 1 15 29 - - - 273 | 264 | 254 | 242 | 23 | 224 | 218 | 211 | 204 | 164 | 125 - - -
80-160/13 13 75 32 - - - 305 | 29.7 | 288 | 27.7 | 265 | 259 | 253 | 246 | 24 | 201 | 165 | 145 - -
80-160/15R 15 20 2| - - - 305 | 29.7 | 288 | 27.7 | 26,5 | 259 | 253 | 24.6 | 24 | 20.1 | 165 | 145 - -
80-160/15 15 20 35 - - - 34 | 333|325 (315|305 | 30 | 294 | 288 | 281 | 244 | 21 191 | 17 -
80-160/18.5 185 | 25 40| - - - 39 | 384 | 376|367 |37 |32 347 341|335 | 30 | 264|244 | 223 | 20
80-200/22 22 30 50 - - - 48 47 455 | 445 43 42 41 40 39 332 | 278 25 - -
80-200/30 30 40 60 - - - 585 | 58 57 56 | 545 | 54 53 52 51 | 465 | 415 | 39 | 361 | 33
80-200/37 37 50 66 - - - 64 63 62 61 | 595 | 59 58 | 575 | 56.5 | 515 | 47 | 445 | 415 | 385
80-250/37 37 50 3| - - - 715 | 705 | 685 | 665 | 64 63 | 615 | 60 | 585 | 485 | 38 - - -
80-250/45 45 60 84 - - - 825 | 815 | 80 78 76 75 | 735 | 725 | 71 62 53 48 | 425 -
80-250/55 55 75 95 - - - 935 [ 925 | 915 | 90 | 835 | 875 | 865 | 855 | 84 | 765 | 685 | 645 | 60 55

65



e EBARA

3 - SERIES
MOTOR TABLES 2 Poles
Model Power Motor | Capacitor | Absorbed current [A] I Power Mgtor Absorbed current [A]
kW | HP | size | mF | vc | 230v | 400v | 690V kW | HP | size | 230V | 400V | 690V
3()M 32-125/1.1 M 11 | 15 90 | 315 [ 450 | 67 B 3(.)S 32-125/1.1 | 3(.)P 32-125/1.1 11 | 15 80 43 | 25 -
3()M 32-125/1.1 151 2 | 9 . - | 59 | 34 3()S32-160/1.5 |3()P32-160/15 | 15 | 2 | 90 | 59 | 34 | -
3(.)M 32-160/1.5 M 15 2 90 40 450 9.6 . 3(.)S 32-160/2.2 | 3(.)P 32-160/2.2 2.2 3 90 85 4.9 -
3()M 32-160/1.5 15 | 2 9 . . 59 | 34 3()S32-20013.0 | 3(.)P 32-200/3.0 3 4 | 100 | 111 | 64 | -
3()M32-16022M | 22 | 3 | 90 | 50 | 450 | 133 3()S32-200/4.0 |3()P32-20040 | 4 | 55 | 112 | 144 | 83 | -
3()M 32-160/2.2 22 3 90 R R 83 48 3(.)S 32-200/5.5 | 3(.)P 32-200/5.5 55 | 75 | 132 105 | 6.1
3(.)M 32-200/3.0 3 4 90 - - 113 | 65 3(.)S 32-200/7.5 | 3(.)P 32-200/7.5 75 | 10 | 132 146 | 84
3()M 32-200/4.0 4 55 100 R R 159 | 92 3(.)S 40-125/1.5 | 3(.)P 40-125/1.5 15 2 90 59 3.4 -
3(.)M 32-200/5.5 55 75 112 - - - 11.8 6.8 3()S 40-125/2.2 | 3(.)P 40-125/2.2 2.2 3 90 8.5 49 -
3(.)M 32-200/7.5 75 10 112 - - - 157 | 9.1 3(.)S 40-160/3.0 | 3(.)P 40-160/3.0 3 4 100 | 11.1 | 64 -
3()M 40-125/1.5 M 15 2 90 40 | 450 | 9.6 3(.)S 40-160/4.0 | 3(.)P 40-160/4.0 4 55 | 112 | 144 | 83 -
3()M 40-125/1.5 15 2 90 - - 59 34 3(.)S 40-200/5.5 | 3(.)P 40-200/5.5 55 75 132 105 | 6.1
3()M 40-125/2.2 M 2.2 3 90 50 450 | 133 3(.)S 40-200/7.5 | 3(.)P 40-200/7.5 75 10 132 146 | 84
3(.)M 40-125/2.2 2.2 3 90 - - 8.3 4.8 3(.)S 40-200/11 3(.)P 40-200/11 1 15 160 217 | 125
3(.)M 40-160/3.0 3 4 90 o o 1.3 6.5 3()S50-125/3.0 | 3(.)P 50-125/3.0 3 4 100 | 11.1 | 64 -
3(.)M 40-160/4.0 4 55 100 - - 159 | 9.2 3()S50-125/4.0 | 3(.)P 50-125/4.0 4 55 112 | 144 | 83 -
3(.)M 40-200/5.5 55 | 75 | 112 - = 18 | 6.8 3(.)S 50-160/5.5 | 3(.)P 50-160/5.5 55 | 75 | 132 105 | 6.1
3(.)M 40-200/7.5 75 | 10 112 - - - 157 | 9.1 3(.)S 50-160/7.5 | 3(.)P 50-160/7.5 75 | 10 | 132 146 | 84
3(.)M 40-200/11 1 15 132 - - - 22 12.7 3(.)S 50-200/9.2 | 3(.)P 50-200/9.2 9.2 | 125 | 132 17.3 10
3()M 50-125/2.2 M 2.2 3 90 50 450 | 13.3 - 3(.)S 50-200/11 3(.)P 50-200/11 1 15 160 217 | 125
3(.)M 50-125/2.2 2.2 3 90 - - 8.3 48 3(.)S 50-200/15 3(.)P 50-200/15 15 20 160 285 | 164
3()M 50-125/3.0 3 4 90 - - 11.3 6.5 3(.)S 65-125/4 3(.)P 65-125/4 4 55 112 | 144 | 83 -
3(.)M 50-125/4.0 4 55 | 100 - - 159 | 9.2 - 3(.)S 65-125/5.5 | 3(.)P 65-125/5.5 55 | 75 | 132 105 | 6.1
3(.)M 50-160/5.5 55 | 75 | 112 - - - 118 | 6.8 3(.)S 65-125/7.5 | 3(.)P 65-125/7.5 75| 10 | 132 146 | 84
3(.)M 50-160/7.5 75 10 112 - - - 157 | 91 3(.)S 65-160/7.5 | 3(.)P 65-160/7.5 75 10 132 146 | 84
3(.)M 50-200/9.2 92 | 125 | 132 - - 18.8 | 10.8 3(.)S 65-160/9.2 | 3(.)P 65-160/9.2 9.2 | 125 | 132 173 | 10
3(.)M 50-200/11 1 15 | 132 - - - 22 | 127 3(.)S 65-160/11 | 3(.)P 65-160/11 1 15 | 160 21.7 | 125
3(.)M 50-200/15 15 20 160 - - - 30 173 3(.)S 65-160/15 3(.)P 65-160/15 15 20 160 285 | 164
3(.)M 65-125/4 4 55 | 100 - - 159 | 9.2 3(.)S 65-200/15 | 3(.)P 65-200/15 15 | 20 | 160 285 | 16.4
3()M 65-125/5.5 55 7.5 112 - - - 11.8 6.8 3(.)S 65-200/18.5 | 3(.)P 65-200/18.5 | 185 | 25 160 341 | 19.7
3(.)M 65-125/7.5 75 10 112 - - - 157 | 9.1 3(.)S 65-200/22 3(.)P 65-200/22 22 30 180 425 | 245
3(.)M 65-160/7.5 75 10 112 - - - 157 | 9.1 3LS 65-250/30 3LP 65-250/30 30 40 200 546 | 315
3(.)M 65-160/9.2 92 | 125 | 132 - - - 18.8 | 10.8 3LS 65-250/37 3LP 65-250/37 37 50 200 66.7 | 38.5
3()M 65-160/11 11 15 132 - - - 22 12.7 3LS 80-160/11 3LP 80-160/11 1 15 160 217 | 125
3(.)M 65-160/15 15 20 | 160 - - - 30 | 173 3LS 80-160/15R | 3LP 80-160/15R 15 | 20 | 160 285 | 16.4
3(.)M 65-200/15 15 20 160 - - - 30 17.3 3LS 80-160/15 3LP 80-160/15 15 20 160 285 | 164
3(.)M 65-200/18.5 185 | 25 160 - - - 39 225 3LS 80-160/18.5 | 3LP 80-160/18.5 185 | 25 160 341 | 19.7
3(.)M 65-200/22 22 30 160 - - - 423 | 244 3LS 80-200/22 3LP 80-200/22 22 30 180 425 | 245
3LM 80-160/11 11 15 132 - - - 22 12.7 3LS 80-200/30 3LP 80-200/30 30 40 200 54.6 | 315
3LM 80-160/13 13 | 175 | 132 - - 25 | 144 3LS 80-200/37 3LP 80-200/37 37 | 50 | 200 66.7 | 37.1
3LM 80-160/15 15 20 160 - - - 30 173 3LS 80-250/37 3LP 80-250/37 37 50 200 66.7 | 37.1
3LM 80-160/18.5 185 | 25 160 - - 39 225 3LS 80-250/45 3LP 80-250/45 45 60 225 79.8 | 46.1
3LS 80-250/55 3LP 80-250/55 55 75 250 994 | 574

66




% E2ARA 3 - SERIES

PERFORMANCE CHART 4 Poles

at 1450 min (according to ISO 9906 Annex A)

U.S.gp.m. 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600
| | | | | | 11 1 1 | 1 1 1 1 | | 11 | |
| | | | | | | UL | | | L | | | | |
Imp.gp.m. 20 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500
H 80~250/75 75 H
[m] 20 [ft]
32-200/0,75 n AR
15 3 AN 50
& NI
Z\ - 40
2%\
10 %>
9 % —30
’ o\ 2\ |2
7 X 2
6 MR 2 20
2V
& I‘%
5 2
N\l —15
\“{5
4 ‘%Y
3 10
&
2\ |
-~
‘o
2 /
(it
1 M

1
50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500
Q [I/min]
1

I T T T T T T T T T 11 T T T 1 T
3 4 5 6 7 8 910 12 14 16 1820 25 30 40 50 60 70 100 150 3
Q [m3/h]

67



% ESARA 3 - SERIES

PERFORMANCE TABLE 32-40-50 4 Poles
Q=Capacity
Model KW HP |[I/min 0 50 100 150 175 200 250 300 350 400 500 600 650
m/h 0 3 6 9 105 12 15 18 21 24 30 36 39
H=Total head (m)
32-125/0.25 0.25 0.33 57| 55 4.7 35 2.8 - - - - - - - -
32-160/0.37R 0.37 05 7.3 7 6.2 5 4.2 - - - - - - - -
32-160/0.37 0.37 0.5 9 8.7 8.1 7 6.3 - - - - - - - -
32-200/0.55R 0.55 0.75 10.8| 103 9.2 7.3 6.2 - - - - - - - -
32-200/0.55 0.55 0.75 12.5 12 1 9.2 8 - - - - - - - -
32-200/0.75 0.75 1 175 171 16.1 143 13.2 - - - - - - - -
40-125/0.37R 0.37 0.5 51 - 48 45 43 4 34 2.6 1.8 - - - -
40-125/0.37 0.37 05 6.5 - 6.3 6 5.8 55 49 4.2 34 - - - -
40-160/0.55R 0.55 0.75 7.7 - 7.3 6.9 6.6 6.3 5.7 5 43 - - - -
40-160/0.55 0.55 0.75 9.1 - 8.6 8.1 7.8 75 6.9 6.2 5.4 -
40-200/1.1R 11 15 11.6 - 112 10.8 10.5 10.1 94 8.6 7.8 - - - -
40-200/1.1 11 15 13.6 - 13.2 12.7 12.4 12.1 114 10.6 9.6 - -
40-200/1.5 15 2 18 - 17.7 173 171 16.8 16.1 15.2 14.2 - - -
50-125/0.55R 0.55 0.75 54 - - - - 5.2 5 4.7 44 4 32 2.3 -
50-125/0.55 0.55 0.75 6.4 - - - - 6.2 6 5.7 54 5 4.2 33 -
50-160/1.1R 11 15 8.2 - - - - 7.8 7.6 7.2 6.9 6.4 55 45 4
50-160/1.1 11 15 95 - - - - 9.1 8.9 8.6 8.3 79 7 6 55
50-200/1.5R 15 2 12.7 - - - - 12.1 11.8 11.4 1 10.5 9.3 8 7.2
50-200/1.5 15 2 14 - - - - 13.3 13 12.7 12.2 11.8 10.6 9.2 8.4
50-200/2.2 2.2 3 17.8 - - - - 17.5 17.3 17 16.6 16.2 15.1 138 131
(W) 1~
PERFORMANCE TABLE 65-80 4 Poles
Q=Capacity
kW HP |l/min 0| 300 350 500 600 800 950 | 1000 | 1050 | 1100 | 1200 | 1300 | 1400 | 1600 | 1800 | 2000 | 2200
Model m¥h 0| 18 21 30 36 48 57 60 63 66 72 78 84 96 108 120 132
H=Total head (m)
65-125/0.55 055 | 0.75 53| 48 4.6 4 35 2.3 14 - - - - - - - - - -
65-125/0.75 0.75 1 6.4 6 5.8 5.2 4.6 35 25 2.2 - - - - - - - - -
65-125/1.1 1.1 15 77| 7.2 7 6.3 5.7 45 35 32 2.8 - - - - - - - -
65-160/1.1 11 15 8.6 - 8.1 74 6.9 5.7 4.6 4.2 3.8 - - - - - - - -
65-160/1.5 15 2 9.7 - 9.2 8.5 8 6.7 5.7 553 4.9 45 - - - - - - -
65-160/2.2 22 3 118 - 113 106 | 10.1 8.8 7.6 7.2 6.8 6.4 55 - - - - - -
65-200/2.2R 2.2 3 13 - 124 | 116 10.9 9.3 7.8 7.3 6.8 - - - - - - - -
65-200/2.2 2.2 3 145| - 139 13 124 | 108 | 93 8.8 8.3 7.8 - - - - - - -
65-200/3 3 4 16.3 - 158 | 151 | 144 | 129 11.6 1.1 106 | 10.1 9 - - - - - -
65-250/4 4 55 18.8 - - 181 | 176 | 161 | 147 | 142 | 137 13 11.6 9.8 - - - - -
65-250/5.5 55 75 21.8 - - 212 | 208 | 196 | 184 | 179 | 175 17 158 | 144 | 128 - - - -
80-160/1.5 15 2 7.3 - - - 6.8 6.3 5.9 5.7 5.6 54 5 4.6 42 34 24 - -
80-160/2.2R 2.2 3 8.6 - - - 8.1 7.8 74 7.3 7.1 7 6.7 6.4 6 5.2 42 3 -
80-160/2.2 22 3 9.5 - - - 9.1 8.8 8.4 8.3 8.2 8 7.8 74 7.1 6.2 5.2 41
80-200/3 3 4 124 - - - 12 115 109 | 107 | 104 | 102 9.7 9.2 8.6 7.3 5.9 42 -
80-200/4R 4 55 14.8 - - - 144 | 139 | 134 | 132 | 129 | 127 | 122 117 112 10.1 8.8 7.2 5.6
80-200/4 4 515 16 - - - 154 | 149 | 143 | 141 | 139 | 137 | 132 | 128 | 123 1.1 9.9 8.4 6.7
80-250/5.5R 55 75 18.5 - - - 17.7 17 16.3 16 157 | 154 | 146 | 138 | 129 | 10.7 8.4 - -
80-250/5.5 55 75 12| - - - 205 | 199 | 191 | 189 | 186 | 182 | 176 | 168 | 159 | 138 | 11.7 | 93 -
80-250/7.5 75 10 245 - - - 24 234 | 228 | 225 | 222 | 219 | 213 | 206 | 198 18 159 | 135 | 108

68



% E2ARA 3 - SERIES

PERFORMANCE CURVE 2 Poles

3(L)M-3(L)S-3(L)P 32 3(L)M-3(L)S-3(L)P 40

0 USgpm. 20 30 40 70 80 9% 100 M0 120 130 0 USgpm. 50 100 150 200
\ S M S S W S M . ! 0 5 °
0 impgpm. 20 E) 0 50 & 70 5 a0 00 10 0 mpgpm. 50 10 50
|- 260
L 250 |
I I-240
H = H H - == 201& H
[m] I — o [ft] [m) — 220 [ft]
T~ 5
200 — 200
™~ — —_—
=g — % 180
I 200/, ™~ 900/) —
: a5 e - i B S
T ~ — 5.5 140
— ] 00 T \IL
Ft \\& “\\\M T~ 120
| 160,55 o | T 100
e o T N N R s e 27 ~
- =~='%0/15 + \\'\\\ 180
~——1125/1.17 | — 125 e
=/ ~ - — [ 125/1.5 ] —
~ — 125/25_-#0
™ | I
100 200 300 400 Q [1/min] 20 400 600 Q [1/min]
S e e e e e S SO s e s e T . . . .
0 2 4 6 8 10 12 14 1§ 1B 20 2 24 2 28Q[m 0 10 30 w0 Q [m¥m)
8 ] U T 12 I I
P2 1 200/5.5 [ 200/757 P2 -
o0 1 — 1 0 ! —— 20/75
T — I 200/119 I— — |
T200/30 200/40 2822 — ——~200/55
| =160/2.2 4 i — 160/4.01
*1‘25/1"1 160/1.5 7125/1.5’%5_—_-’_ 160/3.07
_ 100 200 0 0 Q [i/min] m 40 60 0 V/min]
[ A I 160/2.2—1 1 I T ]
n 1 125/11 ‘ —'6:0/232 s N | I [ [ T
[ 160/1.5 2 200/40 o775 ) &3] 125/22— [m] [#]
5 —T= T T ~ 7
_ = [200/5.5" 200/3.0 842 = — 11
r | st [ 160/3.0 N .
| 200, s 160/401—F 7 125/15 s
P A LY. ' [ 200/5.5 N === ™
I e = N 200/7.54 200/11 = kil
0 5 | 1 N o]
[ I 2007160 |
100 200 30 40 Q [1/min] 200 400 600 Q [1/min]
0 US.gpm. 50 100 150 200 250 300 350 0 USgpm. 100 150 200 250 300 350 400 450 500 550 600 650
I 1 1 1 1 1 Il 1 : 1 T 1 T 1 T 1 T 1 : 1 " 1 " 1 " 1 " 1 |I 1 Y
0 mpgem._ 5 100 150 200 20 300 0 impgpm 100 150 20 20 300 30 40 40 S0 550
‘ ‘ ‘ |-260 I 160
=1 ‘
T 210 |
H e e e e 200/ H H i H
[m) Tﬁ 220 [#t] [m] \hs'o\/,‘7 0[]
T~ T ™
I~ 200 T
O e e S Yoar7 ~ - 60, o
1y B0
e ] e ‘ =11
———— Py —
‘\@ ~_ 160 - > 9. 100
, T TN [ [ L 92T
—+—— T T~ = 80
T———160/7 ~ 120 |
Lol \“Q\ == 1255
t— ] [ — 100 2 ~Xs
L0455 T~ 12 °
e 1 L s,
‘25‘ 4.0 ~ 80 ~40. N
;gs 3. ~_ T 60 ’&;iqﬁ
J‘i\\ —— 40 5]
™~ T~~~ 20
20
200 400 600 800 1000 1200 Q [1/min] 500 1000 1500 2000 Q [1/min]
0 Iy 2 E) 0 E) ) 0 % o 6 ) 100 12 10 Q (3]
[T [T
P 2] o —— e
[szl 2 i fon ! 160/15 —— —
— — 160/11 s O o s 16})7/2 2]
L —t— T e ) S| 125/17.
0 == 160/7.53
125/4. == 4 / w = 125/5.5+——
125/3.04 1540 1
200 40 50 800 500 1000 1500 2000 Q [1/min]
n | ] | Jaoo/1_| n } ] 160/15 o/
" - L [—200/82 ] < 160/9.2
/E > ™1 nesu S ‘
B }
TYANZ = 125/40-tn] 8] 125/40 125/5.5 2T~ _——_—
P = 125/2.2 8t —125/1.5 01
160/5.5 \ 12530\ Js | [ . ‘ e "
200/15 G T 601255
‘ im——— ) e psi 1255
2 ‘ ! l?o )
200 400 600 800 1000 1200 Q [1/min] 500 1000 1500 2000 Q [1/min]

69



% ESARA 3 - SERIES

PERFORMANCE CURVE 2 Poles

3L 65 3L 80

?U-sqn-mlllll 2?0 3?0 MIIO 5?0 5?0 7?0 0 USgpm. 200 300 400 500 600 700 800 900 1000 1100 1200 1300
L 1 1 1 1 1 1 1 1 1 1 1 1 1
o impgpm. 100 % 0 w0 0 500  Ompgpm. 20 30 40 S0 60 0 &0 90 1000 100
} [T 160
H Fr A= 250|/J71 T w H H
[m) [tt] [m] =140 [
s T ™~
T ™~ 250 ]
\vzio./io ™~ 60, 120
L | ! 1‘\\ —— Qs
I ——
- 200 200 A 150/,‘5 100
= ~-2%/18,5 T h %3
~— > g 150 ] 15 80
\ﬁ 15 ™~ ]So//]
i 2
60
™~ 100 Al
“0
2
500 1000 1500 2000 2500 Q [1/min) 1000 2000 3000 4000 Q [1/min]
R 0 0 ) @ w120 o %0 o[m¥m 0 I 1% 1% 200 20 a(m3m
T T1250/37] 1 ]
- 1250/ |_—1160/185
0 == 50/ Pr = 1oy
B e — {1 200/221 ] — — 160/15
e “'——_;63%'8'5‘ 2 I ] [ L 1160/13/15R
I e T, o S 160/11 |
I I 1 L1 [
500 1000 1500 2000 2500 Q [1/min] 1000 2000 3000 4000 Q [1/min]
—— T T
n 200/22 200/18.5] | n = H H
] | 1] &) =~ L
. %z = =~ 250/37] | Z 160/18.5
L= 200/15 250/30 [ N __160/15
“ S NPSH 160/},,160/13/154'\',** NPSH
. [m] 1) [m] [#t)
8 5 PSt 8
NPSH — ﬂzslo” T | T = 62
4
00‘ } ] p g}
500 1000 1500 2000 2500 Q [1/min] 1000 2000 3000 4000 Q [1/min]

0 USgpm 200 300 400 500 600 700 800 900 1000 1100 1200 1300
L 1 1 1 1 1 1 1 1 1 1 1 1 1
0 mpgpm 200 X0 40 S0 60 M0 &0 00 1000 100
[ 1
e Lo
" 5055 H
[m] 1= ] (]
~ -
2 250
1] “5‘7/45
“‘i—\zio 3 250! L 200
L &N
= ] N Lo
~2905, NN
™~ YN
I~ 100
50
1000 2000 3000 4000 Q [1/min]
T T T T T T 1
0 50 100 150 200 250 Q [m3m]
P [ T250/55
2 —— 1 250/45 |
[kw) T T 250/37 4 200/37
= — — ™1200/30
2 = 200/22 "
- L]
\ 11
1000 2000 3000 4000 Q [1/min]
[ I I
n | 200/357—|—|
] s [
= ] N1 200, /30
P
200/22 250/55 T ypen
250/37—250/45 [m] [#)
5 | |
PS| 250_] I20(77 g »
B ——— 2007 2507 || ; 10
[ !
1000 2000 3000 4000 Q [1/min]

70



% E2ARA 3 - SERIES

PERFORMANCE CURVE 4 Poles

3(L)M-3(L)S-3(L)P 32 3(L)M-3(L)S-3(L)P 40

0 USgpm. 10 15 20 25 30 35 40 45 50 0 USgpm. 20 30 4 50 60 70 80 20 100
: L T L T L T L T L II L T L T L T L : L T L T L T L T L : L T L T L T L
0 Imp.gpm. 10 15 20 2 ) 35 ) 0 Impgpm. 20 30 40 50 60 70 80
— |
60 60
H ——— 1 H H = ) H
n] —=—20/075 Q)] m) 25— 1
5 — 50 ~ 50
T~ \\‘
~L e ey "
| — 11
—_ 40 I -
———29/055 C T — T ¢
e e O ~—2%11k,
90/0.55% — T T =
— 30 30
— ——1—160/0.37 —~—] ~ = [P ~
T T~ Tt e 160/0.55
T 1600, T o 180/0.55%
§‘!‘4ﬂ? ~ 20 i s s e e — %5/ [ 20
. T 125/0.25 Tt~ 4237, T ~—— —
— —— ——1__ 125/ 3R — ] ——
e 0 T ™~ 10
—
50 100 150 Q [1/min] 100 200 300 Q [1/min]
T T T T T T T T T T T T 1 T T T T T T T T T T T T 1
0 1 2 3 4 7 8 9 10 1 Qm¥m) 0 2 4 [ 8 10 12 14 16 18 20 2 Q[m¥m)
- - h T =T ]
P2 T —— 1 P2 200/1.5 200/1.17
W] 200/075 —— T ja0/0ssT ) N - /‘
0.4 T 200/0.55 ——— 1‘60/0‘.37: 07 ‘200‘/|.|n‘ — = 160/0557]
o 160/0.37R—— — | 160/0.55R I 125/0.37 |
halbadi 125/0.25 . 125/0.37R— —— [ |
) 50 100 150 Q [I/min] 100 200 300 Q [1/min]
[T 1 ‘ | N I I
n T oo n 125/0.37 ‘
NPSH
&} 125/0.25 = im) (1 7 ! 1 1 - I ‘ [m] [#)
160/0.37 — 11, 160/0.55 % /]
IGO//O.,WR “ —1 S~ 6
[ OPSIE = 200z H 310 160/0.55 = 125/037R > 5
S NPSH———| 0l 2o 200/1.1R T,
— — —| . . 200/1.1 1 160 125 ;
200/075 "t 200/15 201 *
O ‘ [
50 100 150 Q [1/min] 100 2||)o y')o Q [1/min]
0 USgp.m. 40 60 80 100 120 140 160 180 200 0 USgpm. 50 100 150 200 250 300 350
: 1 T 1 T 1 T 1 : 1 T 1 T 1 T 1 : 1 T 1 T 1 T 1 T 1 T 1 II
0 Imp.g.p.m. 40 60 80 100 120 140 160 12 0 Imp.gpm. 50 100 150 200 250 300
° [] T TTTTH
[ 6o T~ ‘
H = 7 H H | | 3 H
i <{200/7,5 3] m E %\ [
T~ Lso T 30
S S = N T "'50‘ ‘ ™
== T S ™ ] % L
i 12007 s L4 ™~ s N 2%
] 7 T
20071 5 ~1~=] NRERN] o X N N |
NN T T L TN L0 ~ ~NUTNN
T 1760/1., N N FTTTT ™~ ~J ’25/\
T N ~ 1 15
+H 160/; ” i SN o . N~ \,2§/ \4‘\ N N
T = ’122: s T 3 \\)\ ‘0.)5 N \\ J N
] -y = 2
<@~~~ ST % N
<] 10 N Ls
100 200 300 400 500 600 700 Q [I/min] 200 400 600 800 1000 1200 Q [1/min]
T T T T T T T T T T T T T T T T T T T
0 5 10 15 20 2 30 35 ) 45 Q [m¥/n) 0 10 2 ) ) 50 60 70 a[m¥n)
24 1.
T
P2 } } I } } \.2‘00‘/2‘2‘* P2, — ——160/2.2—|
_ 2| X = 160/1.5
OF 20/15R LI el S 160/1.
| [ [ 160/1.1R [ F200/1.5] " P 0/1.
[ [ 125/0.55R~NE T 160/1.17 | R 125/0.75]
LU }125/055 h HF 25/055 T
u;o 2!W 300 400 500 600 700 Q [I/min] 200 400 600 800 w'oo 1200 Q [1/min]
n [ [TITTT]ILL] N T
T F200/1.5 1] nesa |
&) = i i i [m] [f) (% L
LT A | ~N N ] =
L ds g
//r P=y |25/o|55R 160/1.1R ) : 125/0.75:
IR =AM I N = ) 125/0.55 "
5 T | [125 . T s 160 310
— 6 NPSH 1257 1= )
1 ; T i ! } 125 s
100 200 300 400 500 600 700 Q [I/min] 200 400 600 800 1000 1200 Q [1/min]

71



% ESARA 3 - SERIES

PERFORMANCE CURVE 4 Poles

0 USgpm. 100 150 250 300 350 %0 0 USgpm. 100 200 300 400 500
L 1 1 1 1 1 1 1 L 1 1 1 1 1
N ; & ' e | r— & % P W
] e i
H I~ — =] I Lo H H H
L ~
tml =255 ) ] =1 s "
%,
] m\ Lo ~% s
™~ ™ CTT—— 7
%4, N ] A
T TR o E | o
[~ \'ﬂ{%; N A 2 1
i B ) SNG40 7,
\\\j 200:/22 N \\ 2 L1s
2.
Sd N 30 4
~ 10
20
2
5
1o
200 400 500 1000 1500 2000 Q [i/min]
T T T T T T T T T T T T
[ 10 20 30 0 2 40 60 80 100 120 140 Q [m3h)
24
P2, P2, = 160/2.2——]
k] k] ™ | —— 160/2.2R
= 18 T —1
= 12 — 160/1.5
= = T i i
200 400 600 800 1000 1200 %00  Q[I/min] 500 1000 1500 2000 Q [i/min]
1] 1]
; R ;
e e e
— === e 200/3.0 S
= [ NN IR NVEEE] 7 160/2.2
200/2.2R *\zoo‘/zz ™ 1T wes 1
i AT ot e i 160/1.5—~J160/228 ("1 ()
200~ 2 3410 PSt — 3410
NPSH T +T250] 1, e — )
HH i Rk T
200 400 600 s&o 1000 1200 1400 Q [1/min] 500 1000 1500 2000 Q [1/min]
0 USgpm. 100 200 300 400 500 600
L 1 1 1 1 1
e s & & p
F —=1 T -80
= 2‘ |
H 250, H
s 70
[m) =] } ‘ [
g s g i
— %5 _w
o N
T 20 50
| —— ‘&,
~L N
— ~L T 40
T~ T~
200,
Lo \\ L%
200/47_20
24, L0
/1 |
'?P—-lo
|
I
500 1000 1500 2000 Q [1/min]
T T T T T T T T
0 20 40 60 80 100 120 140 0 [m3m]
. EEmE ==
W] — [ T1250/5.51 1]
. — = = 250/5.5R_] 200/4.0_]
] i ={200/4.0R |
; L
; ‘ 1 SESSLias
Il Il
500 1000 1500 2000 Q [1/min]
11 [ ] [ 1]
n 1 250/75 | | |1
(%) | = 200/4.0R
=] - T
250/5.5 93 \‘lW/ 40
: NPSH
200/3.0‘ \‘{‘ m) [#]
250/5.5RT—1900—200] 4
s SRR L
| — 50 2
! 250 i
3 | T4
500 1000 1500 2000 Q [1/min]

72



e EaARA

3 - SERIES
DIMENSION 2 Poles
3(.)M 32, 40, 50, 65 up to 11kW
B
D2
P2
DN2, Vi A
3 ’. V2 =918 |
/7 [1 7-#18
2 /Q\ - / & %
a| & % &= 1 ﬁ J 1\ T $\& j\
A . J ﬁ
s D?&\ % I XETE
Fig. 1 ——l GRS DN
R | c 4-915
W N1
st M Sz E% N2
|
B
Fig. 2
25 W |
M
DIMENSIONAL TABLE
Dimensions [mm] ] t|
Model |@|0|@|0 z |olo|o]o H3 Vi V2 Wi'gh
DN1| P1 | K1|D1|S1|[1]] 21 [DN2| P2 | K2 | D2 | 82 |Fig.| H [H1|H2 |[3]|[4]| R |W |[M|N1|N2| A |B| © Bl | B | M@ [kel
32-125/1.1 (M) | 50 | 95 |125(165] 16 | 4 | - | 32 | 75 |100(140| 14 | 1 |252|112[140(124[141| 80 | 70 |114[140(190|213[408[219-230] - |PG 13.5M20xL 5| 19.6
32-160/1.5 (M) | 50 | 95 |125(165| 16 | 4 32 | 75 100|140| 14 | 1 |292[132|160|124[141| 80 | 70 [118|190 |240|254|408 219-230] -  |PG 13.5|M20xL.5| 22.5
32-160/2.2 (M) | 50 | 95 |125(165| 16 | 4 | - | 32 | 75 |100]|140| 14 | 1 |292|132|160|124|141 80 | 70 |118[190|240| 254|408 [219+230] -  |PG 13.5\M20x15| 24.6
32-20030 |50 | 95 |125(165| 16 | 4 32 | 75|100|140| 14 | 1 [340|160{180|124 80 | 70 |119|190|240|296 433 [244+255| - |[PG135| - | 3238
32-200040 |50 |95 (125(165| 16 | 4 | - | 32| 75 [100|140| 14 | 1 |340|160|180|141 80 | 70 |129|190|240| 296 |454| 253 - |pc16| - |395
32-20055 |50 | 95 |125(165| 16 | 4 32 | 75 |100|140| 14 | 1 |340|160{180|150 80 | 70 |119|190|240|296|475| 275 |PG135|PG16| - | 485
32-200175 | 50|95 |125(165| 16 | 4 | - | 32| 75 |100|140| 14 | 1 |340|160|180|150 80 | 70 |119|190|240|296|517| 275 [PG135|PG16| - | 57
40-125/1.5 (M) | 65 | 115]145|185| 16 | 4 40 | 80 [110[150| 14 | 1 |252|112|140(124|141] 80 | 70 |114]160]210(213[408[219:230] - |PG 13.5|M20x15] 20.1
40-125/2.2 (M) | 65 |115[145|185| 16 | 4 | - |40 | 80 |110|150| 14 | 1 |252[112|140|124|141| 80 | 70 [114|160|210|213|408 219:230] - |PG 13.5|M20xL.5| 22.7
40-160/3.0 | 65 |115[145|185| 16 | 4 40 | 80 [110[150( 14 | 1 |292|132|160|124 80 | 70 |118|190|240| 254|433 [p44+255| - PG 135| - 28
40-160/40 | 65 |115[145|185| 16 | 4 | - |40 | 80 |120|150| 14 | 1 |292|132|160|141 80 | 70 |118|190|240| 254 |454| 253 - |pc16| - |31
40200655 | 65 |115[145|185| 16 | 4 40 | 80 |110[150| 14 | 2 |340|160|180[150| - |100| 70 |115|212|265|296|495| 275 |PG135|PG16| - | 488
40-200/75 | 65 |115[145|185| 16 | 4 | - |40 | 80 |110|150| 14 | 2 |340[160|180|150| - |100| 70 [115|212|265|296|537| 275 |PG 135/ PG16| - | 56.2
40-200/11 65 115|145 |185| 16 | 4 40 | 80 |110[150| 14 | 2 |340|160|180|178| - |100| 70 |115|212|265(296|504| 359 |PG135|PG21| - | 675
50-125/2.2 () | 65 | 115|145(185| 16 | 4 | - | 50 | 95 |125]165] 16 | 2 |292|132[160(124|141[100| 70 |114[190(240|254[428[219-230] - |PG 13.5M20x1 5| 28.1
50-125/30 | 65 |115|145(185| 16 | 4 50 | 95 |125|165] 16 | 2 |292[132|160|124| - |100| 70 114|190 |240|254|453 pad=255| - |PG 135 - | 286
50-125/40 | 65 |115|145(185| 16 | 4 | - |50 | 95 |125|165| 16 | 2 |292(132|160|141| - |100| 70 [114]190|240|254|474| 253 - |pc16| - |32
50-160/55 | 65 |115|145(185| 16 | 4 50 | 95 |125|165| 16 | 2 |340[160|180|150| - |100| 70 [115|212|265(296(495| 275 |PG135|PG16| - | 49.1
50-160/75 | 65 |115|145(185| 16 | 4 | - |50 | 95 |125]|165| 16 | 2 |340|160[180(150| - [100| 70 |115|212|265|296(537| 275 |PG 135|PG16| - | 555
50-20009.2 | 65 |115|145(185| 16 | 4 50 | 95 |125|165| 16 | 2 |360[160|200|178| - |100| 70 [115|212|265|296|594| 359 |PG135|PG21| - | 6L7
50-200/11 65 [115(145(185[ 16 | 4 | - |50 | 95 |125|165| 16 | 2 |360(160|200{178| - |100| 70 |115|212|265|296|504| 359 |PG135|PG21| - | 675
65-125/4 80 [134]160[200] 18 | 8 | 4 | 65 |115|145]185| 16 | 2 |340(160]180[141| - |100] 95 |140|212[280(254]474] 253 - | PG16 40
65-125/55 | 80 |134|160(200| 18 | 8 | 4 | 65 |115|145|185| 16 | 2 |340|160[180|150| - [100| 95 |140(212|280|254|495| 275 |PG135|PG16| - | 52
65-125/75 | 80 |134|160(200| 18 | 8 | 4 | 65 |115(145|185| 16 | 2 |340|160[180|150| - [100| 95 |140|212|280|254|537| 275 |PG 135| PG 16 585
65-160/75 |80 |134|160(200| 18 | 8 | 4 | 65 |115|145|185| 16 | 2 |360|160(200|150| - [100| 95 |140|212|280|296|537| 275 |PG 135|PG16| - 62
65-160/9.2 | 80 |134|160(200| 18 | 8 | 4 | 65 |115(145|185| 16 | 2 |360|160(200|178| - [100| 95 |140(212|280|296(594| 359 |PG 135| PG 21 67
65-160/11 80 [134|160(200| 18 | 8 | 4 |65 |115|145|185| 16 | 2 |360|160|200(178| - |100| 95 |140|212(280|296|504| 359 |PG135|PG21| - | 756

[1] Standard
[2] On request

[3] Only for three phase
[4] Only for single phase

73



DIMENSION 2 Poles
3(.)M 50, 65 15 - 22kW
B
D2
P2
DN2 PG21 296
©
] BAYEY) 1 2 |on
] L=
b= ] =
\
e @
—| —| Z | I 25 L / -
ol o O 1 NN /4 | /
| o1
= | To [ -
1 [ rg1 | S ke N
N | ig. S
: e . — /ﬁ%
I
100 499.5 20 4-915
25 W L4 N1
M N2
M)
P - /‘ Z-918
2-915 |
m m b I -
W2 i1l 1t G
LA\
| i &
ig. 2
Ll et L
C 254 25|
D- 2]
e -
L4 har/ B
I} 1l
Ll 1L}
Dimensions [mm]
Model | 0| @ | @ | @ z o|o|o]o Wf('ght
DN1| P1 | K1 | D1 | st | 1] |2 |oN2| P2 | K2 | D2 |Fig.| H [HI [H2 |w | M [Nt |N2| B |C|Lt|L2|L3|Ls|Md
50-200/15 65 | 115145185 | 16 | 4 - 50 | 95 | 125|165 | 2 | 360 | 160 | 200 | 70 | 115 | 212 | 265 | 723 [190.5| 254 | 318 | 65 | 304 | 96
65-160/15 80 | 134 | 160 | 200 | 18 8 4 65 | 115 | 145 | 185 | 2 | 360 | 160 | 200 | 95 | 140 | 212 | 280 | 732 {199.5| 254 | 318 | 65 | 304 | 93
65-200/15 80 | 134|160 (200 | 18 | 8 4 | 65 [ 115 | 145|185 | 1 |405|180 | 225 | 95 | 140|250 [ 320 (732 | - | 254|314 | 60 | 345 | 114
65-200/18.5 80 | 1341160 (200 | 18 | 8 4 | 65 [ 115 | 145|185 | 1 |405 180|225 | 95 | 140|250 [ 320 | 732 | - | 254 | 314 | 60 | 345 | 127
65-200/22 80 | 134 | 160 | 200 | 18 8 4 65 | 115 | 145 [ 185 | 1 |[405| 180 (225 | 95 | 140 [ 250 | 320 | 732 | - | 254 | 314 | 60 | 345 | 136

[1] Standard
[2] On request

74




% E2ARA 3 - SERIES

DIMENSION 2 Poles

3LM 80 - 160 11 - 13kW

¢ 200
9135 7 s
ON8Q PGI3.5 2-G3/8
N
° PG21 8418
|
[ ! J
m 9
H — § ! % N
D
Q 8l 8 | | 3 ; g
N = B0t = - - :
s s & | |b o150
pndias [ | J
3 ©
-
= | s = - - T
24 |
95 25 4-915 80 65
] |
125 250
125 359 320
619

Weight
80-160/11: 94 kg
80-160/13: 97 kg

3LM 80 - 160 15 - 18.5kW

9 200
% 135 . 73
PG21
— 8-918 2-63/8
R PG21 =
o~
Y | /
fis - .
m 8 N N
3 ['e}
88§ bt : — | | | 8 /4h: %4 ) E
o o 2 7 ! D I < ; 2180
B P Jo T 8
o 2
H A
& I & = TiT
2 |
&
= 41| ||| 65
125 250
125 499.5 || 20 320
757
345
8‘ + s ﬁ'
Weight
80-160/15: 130 kg 2-#15 o =
80-160/18.5: 143 kg [THE S —TE—

23



e EBARA

3 - SERIES
DIMENSION 4 Poles
3(.)M4 32, 40, 50, 65 up to 65 - 200
B
D2
A
b 7-918
[1 7-018
2 /% z
s & ?? ﬁé‘ = 4}3
A
* o\/g ) s
Fig. 1
R ¢ 4915
W NI
st M gz E% N2
| 1,
|
Fig. 2
25 W |
M
DIMENSIONAL TABLE
Dimensions [mm] ] II
Model |0 | 0|00 z |o|o|o]|e V"[‘i'g]h
DN1| P1 | K1 | D1 |S1|[1] |2 |DN2| P2 | K2 | D2 | S2 |Fig.| H |HI |H2 |H3| R |W | M |N1|N2| A|B| ¢C V2
32-125/0.25 | 50 | 95 |125|165| 16 | 4 | - | 32 | 75 | 100|140 14 | 1 | 252|112 | 140|102 | 80 | 70 | 114 | 140|190 | 213 [371| 205 | PG 1L | 15
32-1600037R | 50 | 95 |125|165| 16 | 4 | - |32 | 75 [100|140| 14 | 1 |2092|132| 160|119 | 80 | 70 | 118|190 | 240|254 |395| 219 | PG 11 | 20
32-160/037 | 50 | 95 |125]165| 16 | 4 | - | 32| 75 [100| 240 | 14 | 1 |292|132| 160|119 | 80 | 70 | 128|190 | 240 | 254 |395| 219 | PG 11 | 20
32-200/055R | 50 | 95 [125(165| 16 | 4 | - | 32| 75 [100|140| 14 | 1 |340|160| 180|119 | 80 | 70 | 119|190 | 240|296 |395| 219 | PG 11 | 245
322000055 | 50 | 95 |125|165| 16 | 4 | - |32 | 75 [100|140| 14 | 1 |340| 160|180 | 129 | 80 | 70 | 119|190 | 240|296 |395| 219 | PG 11 | 245
32-20000.75 | 50 | 95 |125|165| 16 | 4 | - | 32| 75 [100|140| 14 | 1 | 340|160 180|124 | 80 | 70 | 119|190 | 240 | 296 | 408 |219:230| PG 135| 28
40-125037R | 65 | 115|145 |185| 16 | 4 | - | 40 | 80 | 120|150 | 14 | 1 |252| 112|140 |102| 80 | 70 | 124 | 160 | 210|213 |372| 205 | PG 1L | 155
40-125/0.37 | 65 | 115|145 |185| 16 | 4 | - | 40 | 80 | 110|150 14 | 1 | 252|112 | 140|102 80 | 70 | 114 | 160 | 210 | 213 | 371| 205 | PG 1L | 155
40-160/0.55R | 65 | 115|145 |185| 16 | 4 | - |40 | 80 | 120|150 | 14 | 1 |292|132| 160|119 80 | 70 | 128 | 190 | 240| 254 [395| 219 | PG 1 | 205
40-160/0.55 | 65 | 115|145 |185| 16 | 4 | - | 40 | 80 [ 120|150 | 14 | 1 |292|132|160|119| 80 | 70 | 128 | 190 | 240| 254 [395| 219 | PG 1L | 205
40-200/L1R | 65 | 115|145 |185| 16 | 4 | - | 40 | 80 [ 120|150 | 14 | 2 |340| 160|180 | 124|100 | 70 | 115 | 212 | 265 | 296 | 428 |219+230|PG 135 | 28.5
40-200/1.1 65 | 115|145 |185| 16 | 4 | - | 40 | 80 | 120|150 | 14 | 2 |340| 160|180 | 124|100 | 70 | 115 | 212 | 265 | 296 | 428 |219+230|PG 135 | 28.5
40-200/1.5 65 | 115|145|185| 16 | 4 | - | 40 | 80 | 120 [150| 14 | 2 |340|160 | 180|124 | 200 | 70 | 125 | 212 | 265 | 296 | 428 |219-230| PG 13.5| 305
50-125/0.55R | 65 | 115 |145(185| 16 | 4 | - |50 | 95 [125|165| 16 | 2 |292|132| 160|119 |100| 70 | 114|190 | 240|254 |415| 219 | PG 11 | 205
501250055 | 65 | 115145185 16 | 4 | - | 50 | 95 | 125|165 16 | 2 | 292|132 160|119 |100| 70 | 114 | 190 | 240 | 254 | 415| 219 | PG 11 | 205
50-160/LIR | 65 | 115|145(185| 16 | 4 | - |50 | 95 [125|165| 16 | 2 |340 | 160|180 | 124 |100| 70 | 115|212 | 265 | 296 | 428 [219:230| PG 135| 285
50-160/1.1 65 | 115|145 |185| 16 | 4 | - | 50 | 95 |125|165| 16 | 2 |340|160 | 180|124 | 100 | 70 | 125 | 212 | 265 | 296 | 428 |219-230|PG 13.5| 255
50-200/L5R | 65 | 115|145 |185| 16 | 4 | - |50 | 95 [125|165| 16 | 2 |360| 160|200 | 124 | 100 | 70 | 115|212 | 265 | 296 | 428 |219:230| PG 13.5| 305
50-200/1.5 65 | 115145185 | 16 | 4 | - |50 | 95 |125|165| 16 | 2 | 360|160 | 200|124 | 100 | 70 | 125 | 212 | 265 | 296 | 428 |219-230|PG 13.5| 315
50-200/2.2 65 | 115|145 |185| 16 | 4 | - |50 | 95 |125|165| 16 | 2 |360|160|200 | 141|100 | 70 | 115 | 212 | 265|296 |474| 253 | PG16 | 36
65-125/0.55 | 80 | 134 [160|200| 18 | 8 | 4 | 65 |115|145|185| 16 | 2 |340|160|180 | 119 |100| 95 | 140|212 | 280|254 |415| 219 | PG 11 | 185
65-125/0.75 | 80 | 134 | 160|200 | 18 | 8 | 4 | 65 | 115|145 |185| 16 | 2 |340 | 160 | 180 | 124 | 100 | 95 | 140 | 212 | 280 | 254 | 428 [219:230| PG 135| 20
65-125/1.1 80 [ 134|160 |200| 18 | 8 | 4 | 65 | 115|145 |185| 16 | 2 |340|160 | 180124 100 | 95 | 140 | 212 | 280 | 254 | 428 | 219:230| PG 135| 20
65-160/1.1 80 [134|160|200| 18 | 8 | 4 | 65 | 115|145 |185| 16 | 2 |360|160 | 200|124 | 100 | 95 | 140 | 212 | 280 | 296 | 428 |219-230|PG 13.5| 285
65-160/1.5 80 | 134|160 (200| 18 | 8 | 4 | 65 | 115|145 |185| 16 | 2 |360 | 160|200 | 124 | 100| 95 | 140 | 212 | 280 | 296 | 428 |219-230| PG 135| 30
65-160/2.2 80 [134|160(200| 18 | 8 | 4 | 65 | 115|145 |185| 16 | 2 |360|160 |200| 141|100 | 95 | 140 | 212|280 | 296 | 474 | 253 | PG 16 | 37
65-2002.2R | 80 | 134 160|200 | 18 | 8 | 4 | 65 |115|145|185| 16 | 2 |405|180| 225|141 |100| 95 | 140|250 | 320|296 | 474| 253 | PG 16 | 345
65-200/2.2 80 |134[160(200| 18 | 8 | 4 | 65 | 115|145 |185| 16 | 2 |405|180 | 225|141 |100| 95 | 140|250 | 320 | 296 | 474| 253 | PG 16 | 35
65-200/3 80 [ 134|160 |200| 18 | 8 | 4 | 65 | 115|145 |185| 16 | 2 | 405|180 | 225|141 |100| 95 | 140 | 250|320 | 296 | 474 | 253 | PG 16 | 40

[1] Standard
[2] On request

76



% E2ARA 3 - SERIES

DIMENSION 4 Poles
3LM4 65 - 250, 80
D2
P2
Al A2
o 2-G3/8
]
8-¢18 /
st |
M I % C:l\:‘
/@ ) Z
4-9D3 80 M1
N1
N2
B
DIMENSIONAL TABLE
Model Dimensions [mm] Weight

DN1|P1 (K1 |D1|S1| DN2 |P2|D2|{S2| H |HI|H2|H3|H4| R |W N1{N2|M M1|A1|A2| B C G|D3| Vi V2 [kl
65-250/4 80 |135/160(200 | 22 |65 Fig. 1120|185 20 {450|200 (250|150 15 [100|120(280|360(160| 80 (175(182|515| 295 |(220| 19 | PG135 | PG16 | 82
65-250/5.5 | 80 |135|160(200| 22 |65 Fig. 1|120|185| 20 {450(200{250(178| 15 |100|120|280|360|160| 80 [175(182|611| 376 [259| 19 | PG13.5 | PG21 | 94.5

80-160/1.5 |100|155(180(225| 24 80 Fig. 2|135|200| 22 |405(180(225(124| 13 |125| 95 | 250|320 (125 65 147 |173|453|219+230 (176 15 - PG135 | 53
80-160/2.2R |100|155|180(225| 24 |80 Fig. 2|135(200| 22 |405(180|225(141| 13 |125( 95 |250(320|125| 65 |147|173|499| 253 |193| 15 - PG16 | 56
80-160/2.2 |100|155(180(225| 24 |80 Fig. 2|135|200| 22 |405(180 (225|141 | 13 |125| 95 |250(320(125| 65 [147|173|499| 253 [193| 15 - PG16 | 59

80-200/3 100|155{180(225| 24 |80 Fig. 2|135|200| 22 {430(180(250(141| 13 |125| 95 |280|345|125| 65 [175(182|521| 275 |[193|15 - PG16 | 73
80-200/4R  |100|155(180|225| 24 |80 Fig. 2|135|200| 22 |430(180|250(150| 13 |125| 95 (280 (345|125 65 |175(182(540| 295 |220| 15 | PG135 | PG16 | 81
80-200/4 100|155|180(225| 24 |80 Fig. 2(135|200| 22 |430{180{250(150| 13 |125| 95 |280|345|125| 65 [175(182|540| 295 |220| 15 | PG13.5 | PG16 | 81
80-250/5.5R |100|155(180|225| 24 |80 Fig. 2|135|200| 22 |480(200|280|178| 15 |125{120(315(400|160| 80 |175(192(636| 376 |259|19 | PG135 | PG21 | 95
80-250/5.5 |100|155|180(225| 24 |80 Fig. 2|135|200| 22 {480(200(280(178| 15 |125|120|315|400|160| 80 [175(192|636| 376 |259| 19 [ PG13.5 | PG21 | 95
80-250/7.5 |100|155(180(225| 24 80 Fig. 2|135|200| 22 {480(200(280(178| 15 |125|120|315|400(160| 80 (175(192|636| 376 [259(19 | PG13.5 | PG21 | 100

7



DIMENSION 2 Poles
3()S 32, 40, 50 up to 2.2kW
8
D2
P2
N2 vi V2
&) 4-918
ok n
- 0 = o
3 = 2 T—i_ =
[=] e —
| — ® 5
x|
o - ==X
o A 15 4-915
Ii_l 2-910 N1
16 M N2
¢ 8
Fig. 2 .
2 || 7 -
M
Dimensions [mm] Weldk
Model o|lo|o|o|o|o|o]|o ;('g]‘
DN1| P1 | K1 | D1 |[DN2| P2 | K2 | D2 | S2 (Fig.| H | H1 | H2 | H3 | R M [Nl |[N2| A B Cc Vi V2
32-125/1.1 50 [ 95 | 125|165 | 32 | 75 | 100 [ 140 | 14 | 1 | 252 | 112 | 140 | 129 | 80 | 114 | 140 | 190 | 213 | 430 | 174 | M25x1.5 | M20x1.5 | 23.1
32-160/1.5 50 | 95 | 125|165 | 32 | 75 [ 100 [ 140 | 14 | 1 | 292|132 | 160 | 138 | 80 | 118 | 190 | 240 | 254 | 477 | 186 | M25x1.5 | M20x1.5 | 28.5
32-160/2.2 50 | 95 |125|165| 32 | 75 | 100|140 | 14 | 1 | 292|132 | 160 | 138 | 80 | 118 | 190 | 240 | 254 | 477 | 186 | M25x1.5 | M20x15 | 324
40-125/1.5 65 | 115 | 145|185 | 40 | 80 | 110 [ 150 | 14 | 1 | 252 | 112 | 140 | 138 | 80 | 114 | 160 | 210 | 213 | 477 | 186 | M25x1.5 | M20x1.5 | 26.5
40-125/2.2 65 | 115 | 145|185 | 40 | 80 [ 110 [ 150 | 14 | 1 | 252 | 112 | 140 | 138 | 80 | 114 | 160 | 210 | 213 | 477 | 186 | M25x1.5 | M20x1.5 | 29.6
50-125/2.2 65 | 115 | 145|185 | 50 | 95 [ 125|165 | 16 | 2 | 292 | 132 | 160 | 138 | 100 | 114 | 190 | 240 | 254 | 497 | 186 | M25x1.5 | M20x1.5 | 32.9
3(.)S 32, 65 3 - 4kW
B
D2
PNZ M25x1.5 A
gl {’ﬁ' M20x1.5 2018 |
| i
_ o o
= ] e
3| & EE %i_‘ i T ié
00
Sy
= =\
Fig. 1 . T
: t |
R | c o || 25 4-915
| N1
st N N2
4ot
H 4918
B
Fig. 2 , e \*_l @
% W —18 | ol
" ey DN2
Dimensions [mm] .
Model | @ oo z |o|o|ole W[ek'g?‘
DN1 K1 |D1|S1|[1] |[2] IDN2| P2 | K2 | D2 | S2 [Fig.| H |HI [H2 |H3| R | W | M | N1 | N2 B|C|Ll|L2|L3 ¢
32-200/3.0 50 125(165( 16 | 4 | - | 32| 75 (100|140 14 | 1 [340|160|180 (145 80 | 70 | 119|190 | 240 |296 | 528 | 205 | 160 | 202 | 42 | 43.4
32-200/4.0 50 125|165( 16 | 4 32| 75(100(140| 14 | 1 [340(160|180|161| 80 | 70 | 119|190 |240 (296 | 550|212 | 190 | 228 | 38 | 45.9
65-125/4.0 80 | 134 (160 (200| 18 | 8 | 4 | 65 [115(145|185( 16 | 2 |340|160 (180|161 (100 | 95 | 140|212 280 | 254 | 570 [ 212|190 | 228 | 38 | 47

[1] Standard
[2] On request

78



% E2ARA 3 - SERIES

DIMENSION 2 Poles
3(.)S 40, 50, 65 11 - 15kW
B
D2
M40x1.5
350
B o e —m—]
OO 7-918
N i | P—‘ ﬁ [l o L
553 - /%?3\ ) _3‘”
L “ / . .
E 7-¢18
L [ (] s 3
100 4-919 70
W 240
25 720 25 310
F
4-918 ~&
2

DIMENSIONAL TABLE

Dimensions [mm] .
Model 1] 0 ] 0 z 0 0 0 0 Wilght
DN1 P1 K1 D1 S1 [1] [2] DN2 | P2 K2 D2 S2 H H1 H2 w B F fkal
40-200/11 65 115 145 | 185 16 - 40 80 110 | 150 14 382 | 160 | 180 110 | 798 | 833 | 107
50-200/11 65 115 145 185 16 - 50 95 125 165 16 402 160 200 110 798 833 107
50-200/15 65 115 145 | 185 16 - 50 95 125 | 165 16 402 | 160 | 200 110 | 798 | 833 | 131
65-160/11 80 134 160 200 18 4 65 115 145 185 16 402 160 200 | 1225 | 798 846 76
65-160/15 80 134 | 160 | 200 18 4 65 115 145 | 185 16 402 | 160 | 200 | 1225 | 808 | 856 | 104

o o & &~

[1] Standard
[2] On request

79



e EBARA

DIMENSION 2 Poles
3(.)S up to 65 - 200
B
D2
P2 A
N2
v |
[1 7-918
P
sl 5l 2 /% % -
I= }
Fig. 2 X %
¢
| B I
N . 7-418 Q
i Fig. 1
e w R || 4 - 915
M W N1
st M N2
N
IpN S
TCER
|RHE. I
329 241 58.5
25 95
140 4 s
4-014
320 28
1l 1
Ll L
Dimensions [mm] .
Model | 0 |@|2|0 o |olo|o W[ek'glh‘
DN1 (P1|K1|D1|S1|[1]|[2] | DN2 [P2|K2|D2|S2 |Fig., H |H1|H2|H3|H4| R |W|M |N1|N2|A|B|C|F |G| Q|L1|L2|L3 Vi V2 9
32-200/5.5 | 50 |95|125[165|16| 4 | - | 32 |75|100({140( 14 | 1 [340{160|180[195| 28 | 80 | 70 {119(190{240{300(607(479| 15 [270| 12 [216(266| 50 | M32x1.5 | M32x1.5 | 62.8
32-200/7.5 | 50 |95|125[165/16| 4 | - | 32 |75(100{140| 14 | 1 |340{160(180(195| 28 | 80 | 70 [119{190(240(300|607(479| 15 (270| 12 |216{266| 50 | M32x1.5 | M32x1.5 | 74.6
40-160/3.0 | 65 |[115[145|185[16| 4 | - | 40 [80(110(150( 14 | 1 [292|132(160|145| 32 | 80 | 70 [118|190(240|254(528|388| 15 [220| 12 {160|200| 40 | M25x1.5 | M20x1.5 | 39
40-160/4.0 | 65 |115[145|185(16| 4 | - | 40 [80(110(150( 14 | 1 [292|132(160|161| 20 | 80 | 70 {118|190(240|254(550|395| 15 [220| 12 {190|240| 50 | M25x1.5 | M20x1.5 | 41.5
40-200/5.5 | 65 |115[145|185(16| 4 | - | 40 [80(110(150] 14 | 2 [340|160(180|195| 28 |100| 70 {115|212(265|300(627|479| 15 [270| 12 [216|266| 50 | M32x1.5 | M32x1.5 | 63.2
40-200/7.5 | 65 |115[145|185[16| 4 | - | 40 [80(110(150| 14 | 2 [340|160(180|195| 28 |100| 70 {115|212(265|300(627|479| 15 [270| 12 [216|266| 50 | M32x1.5 | M32x1.5 | 69.6
50-125/3.0 | 65 |115|145[185|16| 4 | - | 50 |95 |125[165(16 | 2 (292|132(160|145| 32 |100| 70 [114(190(240(254|548(388| 15 |220| 12 |160(200( 40 | M25x1.5 | M20x1.5 | 42
50-125/4.0 | 65 |115|145[185|16| 4 | - | 50 |95 |125[165| 16 | 2 (292|132(160|161| 20 |100| 70 [114(190{240(254|570(395| 15 |220| 12 {190(240( 50 | M25x1.5 | M20x1.5 | 42.5
50-160/5.5 | 65 |115|145[185|16| 4 | - | 50 |95 |125[165| 16 | 2 [340{160|180(195| 28 |100| 70 [115(212(265(300(627(479| 15 [270| 12 [216(266| 50 | M32x1.5 | M32x1.5 | 63.8
50-160/7.5 | 65 |115(145[185/16| 4 | - | 50 |95 [125|165|16 | 2 |340({160(180(195| 28 {100| 70 |115{212(265(300|627(479| 15 (270| 12 |216{266| 50 | M32x1.5 | M32x1.5 | 69.6
50-200/9.2 | 65 |115|145[185|16| 4 | - | 50 |95 |125[165| 16 | 2 [360{160|200(195| 28 |100| 70 [115(212(265(300(667(479| 15 270| 12 [216(266 50 | M32x1.5 | M32x1.5 | 79.7
65-125/5.5 | 80 |134(160[{200(18| 8 | 4 | 65 |115[145|185|16 | 2 (340{160(180(195| 28 [100| 95 (140{212(280(300|627(479| 15 |270| 12 |216{266| 50 | M32x1.5 | M32x1.5 | 60
65-125/7.5 | 80 |134(160[{200(18| 8 | 4 | 65 |115[145|185|16 | 2 (340{160(180(195| 28 [100| 95 (140{212(280(300|627(479| 15 |270| 12 |216{266| 50 | M32x1.5 | M32x1.5 | 67
65-160/7.5 | 80 |134(160[{200(18| 8 | 4 | 65 |115[145|185|16 | 2 (360({160(200{195| 28 [100| 95 (140{212(280(300|627(479| 15 |270| 12 |216{266| 50 | M32x1.5 | M32x1.5 | 70
65-160/9.2 | 80 |134(160(200(18| 8 | 4 | 65 |115[145|185|16 | 2 (360({160(200{195| 28 [100| 95 (140{212(280(300|667(479| 15 (270| 12 |216{266| 50 | M32x1.5 | M32x1.5 | 77
65-200/15 80 |134{160(200{18 | 8 | 4 | 65 [115(145(185| 16 | 2 |405|180|225|238| 20 {100 95 (140|250(320|350|808|621| 20 [350( 14 [254(314| 60 | M40x1.5 | M40x1.5 | 128
65-200/18.5 | 80 |134|160[200| 18| 8 | 4 | 65 |115|145[185| 16 | 2 [405(180(225[238| 20 [100| 95 {140(250(320(350(852(621 20 (350 14 [254(314| 60 | M40x1.5 | M40x1.5 | 141
65-200/22 80 |134(160(200{18 | 8 | 4 | 65 [115(145(185| 16 | 3 |405|180|225(245| - [100| - | - |250(320|350|888| - - - | M40x1.5 | M40x1.5 | 160

[1] Standard

[2] On request

80



% E2ARA 3 - SERIES

DIMENSION 2 Poles
3LS 80-160
8 200
$ 135 175 175
M40x1.5
DN8Q MAOK.5 8-918 2-63/8
I/ /1 J
IR E—=———p : | | o180 ¥
— e 1
24 : i i
& 4-¢15 65
20 250
2
125 621 320
B
350 <
IE + ==
At — 8P
DIMENSIONAL TABLE
Dimensions [mm] Weight
Model
B kgl
80-160/11 833 135
80-160/15R 833 147
80-160/15 833 147
80-160/18.5 877 155

81



e EBARA

3 - SERIES
DIMENSION 2 Poles
3LS 65 -250, 80 0
P2 Al A2
8-418 2-G3/8
O] h l’\ 1 =
| % [ k1
D 2\
4-9D3 AR
N1
N2
ol 9
_H_
Model Dimensions [mm] Weight
DN1|{P1|K1{D1{S1| DN2 |P2|D2|S2|H |H1|H2{H3|H4[H5| R |W |N1|N2| M |M1| L L1|L2(L3[L5|A1|A2| B |C|F1|G |D3|D5 Vi V2 [ka]
65-250/30 | 80 |135/160[200] 22 65 Fig. 1120185 20 (450/200[250(310| 15 | 25 [100[120[280[360]160| 80 [305(318{395 70 [370[200[200| 968 [341(32.5396/ 19|17 | M50x1.5 |M50xL.5 | 303
65-250/37 | 80 |135[160[200] 22 65 Fig. 1|120185| 20 [450/200[250(310| 15 | 25 [100|120[280[360]160| 80 [305318{395( 70 [370[200[200| 968 [341(32.5[396/ 19|17 | M50x1.5 |M50xL.5 | 320
80-200/22 | 100 [155[180[225| 24 | 65 Fig. 2|135[200| 22 430(180[250[245| 13 | 22 [125| 95 [280[345/125| 65 [241{279(350] 80 [320[175(182| 913 [32958.5[320| 15 | 14 | M40x1.5 |M40x1.5| 200
80-250/37 | 100 {155[180[225| 24 | 65 Fig. 2|135200| 22 480[200280{310| 15 | 25 [125(120[315/400[{160| 80 [305[318{395| 70 [370{200[200| 1021 [369|32.5(396{ 19 | 17 | M50x1.5 [M50x1.5 | 335
3LS 80 2 W15
9135 A A2
on M50x1.5
g [—W‘ 2-63/8
2% db 8-918 I
B \% *
g 8 g_ Al \‘éﬁ\%’( 4
o o 3 ] % 9180
e~ ]
[mH] ! JHI - hl
| 'EI 4-9D3 M1
M N1
125 C L F1 N2
B
L5
1 |+ A
4-917, J
o w 7
Model Dimensions [mm] Weight
H |Hl | H2 | H3 | H4 [H5 | W [ N1 | N2 | M | Ml | L [L1 | L2 |L3|L5|A1l|A2]| B C |F1| G | D3| [k
80-200/30 450 | 200 | 250 | 310 | 20 | 25 | 95 | 280 | 360 | 130 | 80 | 305 | 318 | 395 | 70 | 370 | 200 | 200 | 993 | 341 | 325 | 396 | 14 | 306
80-200/37 450 | 200 | 250 | 310 | 20 | 25 | 95 | 280 | 360 | 130 | 80 | 305 | 318 | 395 | 70 | 370 | 200 | 200 | 993 | 341 | 325 | 396 | 14 | 325
80-250/45 505 | 225 [ 280 | 335 | 25 | 28 | 120 | 315 | 415 | 165 | 100 | 311 | 356 | 435 | 75 | 393 | 225 | 225 | 1051 | 385 | 41 | 435 | 18 | 401

82



% E2ARA 3 - SERIES

DIMENSION 2 Poles
3LS 80-250/55

¢ 200 M63x1.5
9 135 M63x1.5 275 275
2-G3/8
(=] /
5 8-418
2
% N
M)
g 8 2 — g
Ay Ay e N

% g
- | - -

T

3 4-p19 ©
315
405
500
8 fb
2-924
o 8 Weight
4y 9 80-250/55: 489 kg

83



e EBARA

DIMENSION 4 Poles
3(.)S4 32, 40,50, 65 up to 1.5
B
D2
P2
DN2 Vi V2 A
o
n 7-918
7-#18
I (1
o] | c:;:‘ =
T AR
(758 >
=l = = P! . / \ T @ / \
o
" 4 el
£ AL
Fig. 1 5@3 o
R ¢ 15 4-915
w 2-K N1
S1 M N2
I 1,
i ><| >
Fig. 2 R
N
25 W_|
N DN2
Dimensions [mm] \Weidh
Model |0 |2 |0 |0 olo|o|o [‘I"('g]‘
DN1|P1 | K1 |D1 |81 |[]| 2 [DN2| P2 | K2 | D2 | $2 |Fig.| H [H1|H2 |H3| R |[w | M [Nt1|N2|A |B|cC|X|Y|K| Wi V2
32-125/0.25 | 50 | 95 |125[165| 16 | 4 | - | 32| 75 |100|140| 14 | 1 |252|112|140|112| 80 | 70 | 114 |140|190| 213|403 153|112 |140| 8 |M20xL5 |M16xL5| 155
32-16000.37R| 50 | 95 |125|165| 16 | 4 32| 75 [100{140| 14 | 1 |202|132|160(112| 80 | 70 |118|190| 240|254 403|153 112 |140| 8 |M20xL5 [M16xL5 | 185
32-1601037 | 50 | 95 |125|165| 16 | 4 32| 75 [100{140| 14 | 1 |202|132|160(112| 80 | 70 |118|190|240| 254|403 |153| 112 | 140| 8 |M20x15 |m16xL5 | 185
32-20000.55R| 50 | 95 |125|165| 16 | 4 32 | 75 [100{140| 14 | 1 [340{160| 180|129 80 | 70 | 129|190 | 240|296 430|174 | 140|168 10 | M25xL5 |M20xL5 | 28
32-2000055 | 50 | 95 |125|165| 16 | 4 32| 75 [100{140| 14 | 1 |340|160|180(129 80 | 70 |119|190|240|296|430|174|140|168| 10 | M25xL5 [M2oxL5 | 28
32-20000.75 | 50 | 95 |125|165| 16 | 4 32| 75 [100{140| 14 | 1 |340{160|180(129 80 | 70 |119|190| 240|296 |430(174|140|168| 10 | M25xL5 [ M20XL5 | 295
40-125/0.37R| 65 | 115145185 16 | 4 40 | 80 [110[150| 14 | 1 |252|112[140|112| 80 | 70 |114|160|210|213|403| 153|112 140 8 [M20XL5 [M16x15| 16
40-125/0.37 | 65 | 115 | 145|185 16 | 4 40| 80 [110{150| 14 | 1 |252|112|140{112| 80 | 70 |114]160| 210|213 403|153 112 |140| 8 |M20xL5 [M16x15| 16
40-160/0.55R| 65 | 115 | 145|185 16 | 4 40 | 80 [110{150| 14 | 1 |292|132|160(129| 80 | 70 |118|190| 240|254 430|174 | 140 | 168| 10 | M25xL5 [ M20XL5 | 235
40-160/055 | 65 | 115|145|185| 16 | 4 40| 80 [110{150| 14 | 1 |202{132|160(129 80 | 70 |118|190| 240|254 |430{174|140|168| 10 | M25xL5 [ M20XL5 | 235
40-200/L.1R | 65 | 115]145]185| 16 | 4 40 | 80 |110|150 14 | 2 |340|160|180|138|100| 70 |115 |212|265|296|497 |186 | 140| 168| 10 |M25xL5 | M2ox15 | 345
4020011 | 65 |115|145|185| 16 | 4 40 | 80 [110{150| 14 | 2 |340{160|180(138|100] 70 |115|212| 265|296 |497 | 186 140|168 | 10 | M25xL5 [ M20XL5 | 345
4020015 | 65 |115|145|185| 16 | 4 40 | 80 [110{150| 14 | 2 |340{160|180(138|100] 70 |115|212| 265|296 497|186 140|168 | 10 | M25xL5 | M20XL5 | 355
50-125/0.55R| 65 | 115]145|185| 16 | 4 50 | 95 |125]165| 16 | 2 |292|132]160|129|100] 70 | 114|190 240 254|450 | 174 | 140|168 10 | M25xL5 | M20XL5 | 23.5
50-125/0.55 | 65 |115]145|185| 16 | 4 50 | 95 |125(165| 16 | 2 |292]132]160|120|100] 70 | 114|190 | 240|254| 450|174 | 140|168 10 | M25xL5 | M20xL5 | 235
50-160/L1R | 65 |115|145|185| 16 | 4 50 | 95 |125[165| 16 | 2 |340|160|180[138| 100 70 | 115 212|265 | 206|497 | 186|140 | 168| 10 |M25x15 |M20x15 | 34
50-160/11 | 65 |115]145|185| 16 | 4 50 | 95 |125]165| 16 | 2 |340|160|180[138| 100 70 | 115 |212| 265 | 206|497 | 186|140 | 168| 10 |M25x15 |M20x15 | 34
50-200/L5R | 65 |115]145|185| 16 | 4 50 | 95 |125(165| 16 | 2 [360{160(200|138|100| 70 | 115|212 | 265 | 206|497 | 186 | 140 | 168 10 | M25xL5 |M20xL5 | 37
50-200/15 | 65 |115]145|185| 16 | 4 50 | 95 |125|165| 16 | 2 |360(160|200|138|100| 70 |115 |212|265|296|497 | 186 |140| 168| 10 | M25xL5 | M2ox15| 37
65-125/0.55 | 80 |134]160[200| 18 | 8 | 4 | 65 |115|145|185| 16 | 2 |340|160|180|129]100 95 |140|212|280 | 254|450 |174|140|168| 10 |M25xL5 |M20xL5 | 215
65-125/0.75 | 80 [134]160[200| 18 | 8 | 4 |65 |115|145]185| 16 | 2 |340|160|180|129| 100 95 |140|212|280 |254|450 |174|140| 168 | 10 |M25x15 |M20x15 | 23
65-125/L.1 | 80 |134]160{200| 18 | 8 | 4 | 65 |115|145|185| 16 | 2 |340|160|180(138|100| 95 |140|212| 280|254 |497 | 186|140| 168 | 10 [M25x15 | M20xL5 | 32
65-160/1.1 | 80 [134]160|200| 18 | 8 | 4 |65 |115|145]185| 16 | 2 |360|160|200(138| 100 95 |140|212|280 |206|497 | 186|140 | 168| 10 |M25x15 |M20x15 | 36
65-160/15 | 80 [134]160|200| 18 | 8 | 4 |65 |115|145[185| 16 | 2 |360|160|200(138| 100 95 |140|212|280 |206|497 186|140 168| 10 |M25x15 |M20x15 | 37

[1] Standard
[2] On request

84



R E3ARA 3 - SERIES
DIMENSION 4 Poles
3(.)S4 50,65 2.2-3
548
D2
P2
DN2 M25x1.5 296
e M20x1.5 L9018
| 7-018
St g /
}—] 1 —1 < —
# 2 ] - g
—HE00000
_ T { V\ /@
5 & 8 ittt \K } C
e & %
| @ _ .
= =X 11
| Ll re)
; TN
|
100 205 140 225 4-915
25 N1
M N2
4911
4-918 /
— 7 ?  [¢ ¥
Ll Ll
Ll [l
Dimensions [mm] .
Model o | o | o | @ z o | o | 0| @ ""[i'glht
oNt | Pt | Kt | ot | st | M1 | @2 |one| P2 | ke | D2 | H | W | H2| W | M | N | N |"
5020022 | 6 | 15 | 145 | 185 | 16 | 4 T [ 50 | 95 | 125 | 165 | 360 | 160 | 200 | 70 | 15 | 212 | 265 | 43
6516022 | 80 | 134 | 160 | 200 | 18 | 8 | 4 | 6 | 15 | 145 | 185 | 360 | 160 | 200 | 95 | 140 | 212 | 280 | 46
65-20022R | 80 | 134 | 160 | 200 | 18 | 8 | 4 | 65 | 15 | 145 | 185 | 405 | 180 | 225 | 95 | 140 | 250 | 320 | 425
6520022 | 80 | 134 | 160 | 200 | 18 | 8 | 4 | 65 | 15 | 145 | 185 | 405 | 180 | 225 | 95 | 140 | 250 | 320 | 43
65-20013 80 | 134 | 160 | 200 | 18 | 8 | 4 | 65 | 15 | 145 | 185 | 405 | 180 | 225 | 95 | 140 | 250 | 320 | 485

[1] Standard
[2] On request

85




% ESARA 3 - SERIES

DIMENSION 4 Poles
3LS4 80 - 160/1.5

DN8Q _
‘ M25x1.5 2-65/8

M20x1.5

225

405

9 225
9 155

9189

180

13

Weight
3LS4 80-160/1.5: 60.5 kg

3LS4 from 2.2 o2 A 0

@ ——2

=
H3
IS
H2
H

#|G
&
Q&
H1

\

4-903 M

DIMENSIONAL TABLE

Dimensions [mm] Weight
DN1|{P1|K1|D1|{S1| DN2 |P2|D2{S2|H [H1|H2|H3|H4|H5| R |W N1[N2|M [M1| L |L1|L2|L5|A1|A2|B|C |F1|G|D3| Vi V2 [ka]
65-250/4 80 |135(160[200] 22 |65 Fig. 1{120(185/ 20 [450({200(250(161 15 | 88 [100|120{280(360(160| 80 [147(265[290|187|175(182(580(215| 20 [225| 19 | M25x1.5 | M20x1.5 | 86
65-250/5.5 | 80 (135[160|200( 22 |65 Fig. 1120|185/ 20 [450(200{250|195| 15 | 68 [100|120|280(360|160| 80 [157|315(340|228(175|182|637(264| 46 [248| 19 | M32x1.5 | M32x1.5 | 99.5
80-160/2.2R| 100 (155(180|225( 24 |80 Fig. 2|135|200| 22 |405(180(225|145/ 13 | 80 [125| 95 |250(320|125| 65 [140|250(275|190(147|173|573[205| 25 [{196| 15 | M25x1.5 | M20x1.5 | 69.7
80-160/2.2 | 100 (155(180|225( 24 |80 Fig. 2|135|200| 22 [405/180(225|145| 13 | 80 (125 95 |250(320|125| 65 140|250(275|190(147(173|573[205| 25 (196 15 | M25x1.5 | M20x1.5 | 70
80-200/3 | 100 (155[180|225( 24 |80 Fig. 2|135|200| 22 [430(180(250|145 13 | 80 [125| 95 |280(345|125| 65 [140|250(275|190(175|182|583[215| 25 [196| 15 | M25x1.5 | M20x1.5 | 81.5
80-200/4R | 100 |155(180[225 24 |80 Fig. 2{135(200| 22 [430{180[250(161| 13 | 68 [125| 95 [280[345(125 65 [157|315[340(228|175(182|605(198| 46 [225| 15 | M25x1.5 | M20x1.5 | 89.5
80-200/4 | 100 (155(180|225( 24 |80 Fig. 2{135|200| 22 [430/180(250|161| 13 | 68 [125| 95 |280(345|125| 65 [157|315(340|228(175(182|605(198| 46 225 15 | M25x1.5 | M20x1.5 | 90
80-250/5.5R| 100 (155(180|225( 24 |80 Fig. 2|135|200| 22 [480(200(280|195| 15 | 68 |125|120|315(400|160| 80 {157|315(340|228(175(192|662(264| 46 [248| 19 | M32x1.5 | M32x1.5 | 104
80-250/5.5 |100 [155(180(225| 24 (80 Fig. 2(135/200| 22 [480{200{280(195| 15 | 68 [125[120(315(400{160| 80 157(315(340(228(175(192(662(264| 46 [248| 19 | M32x1.5 | M32x1.5 | 104.5
80-250/7.5 | 100 (155[180|225( 24 |80 Fig. 2|{135|200| 22 [480|200(280|195| 15 | 68 |125(120|315(400|160| 80 157|315(340|228(175(192|702(264| 46 [248| 19 | M32x1.5 | M32x1.5 | 109.5

Model

86



% E2ARA 3 - SERIES

DIMENSION 2 Poles
3(.)P up to 65 - 200 .
D2 Bt
P2
DN2
o R | Vi V2 A
| N/
St BEE [ ) L1 .
¥i-u —_—— ?? } -
Ay N _
; ay 7-018 Q =
. 3
360 3 4-915 || o N3
3 N1
T N2

(%) only for 32-200/5.5/7.5

(Y) only for 50-125/2.2/3/4
65/125/4

Dimensions [mm]
Weight
[2] IDN2| P2 (K2 | D2|S2| H|HI|H2|{H3| R | A |[B |B1|D|E |NIT|N2[N3| T Vi \'/] fka]
32 | 75 [100|140| 14 (302|112 (140 (129 | 80 |213|715|272 | 80 |550 [ 300 | 340 | 250 | 710 |[M25x1.5|M20x1.5| 43.5
32 | 75 (100|140 | 14 |342|132(160|138| 80 | 254|760 |317 | 80 |590 | 350 | 390 | 300 | 750 |M25x1.5|M20x1.5| 51
32 | 75 (100|140 | 14 (342|132 (160|138 | 80 |254| 760|317 | 80 |590 |350 | 390 | 300 | 750 |M25x1.5|M20x1.5 53.5
32 | 75 (100|140 14 390|160 | 180 |145| 80 | 296|809 |366 | 80 |590 | 350 | 390 | 300 | 750 |M25x1.5|M20x1.5| 68
32 | 75 [100|140| 14 (390|160 (180|161 | 80 | 296|831 |388 | 80 |590 | 350 | 390 | 300 | 750 |M25x1.5|M20x1.5| 72
32 | 75 [100|140| 14 390|160 (180|195 | 80 | 296 | 885|442 |100 |650 | 350 | 390 | 300 | 850 |M32x1.5|M32x1.5| 88
32 | 75 [100|140| 14 (390|160 (180|195 | 80 |296 | 885|442 |100 | 650 | 350 | 390 | 300 | 850 |M32x1.5|M32x1.5| 99.8
40 | 80 | 110|150 | 14 |302 (112 |140|138| 80 | 213|760 317 | 80 |550 | 300 | 340 |250 | 710 [M25x1.5|M20x1.5| 48.5
40 | 80 | 110|150 | 14 [302 | 112 | 140|138 | 80 | 213|760 |317 | 80 |550 | 300 | 340 |250 | 710 [M25x1.5|M20x1.5| 51
40 | 80 | 110|150 | 14 |342 (132|160 |145| 80 | 254|809 366 | 80 |590 | 350|390 | 300 | 750 [M25x1.5|M20x1.5| 77.5
40 | 80 | 110|150 | 14 [342 (132 (160|161 | 80 | 254|831 (388 | 80 |590 | 350|390 |300 | 750 [M25x1.5|M20x1.5| 64.5
40 | 80 | 110|150 | 14 |390 | 160 | 180|195 | 100|296 | 905 | 442 | 100 | 650 | 350 | 390 | 300 | 850 (M32x1.5|M32x1.5| 89
40 | 80 | 110 | 150 | 14 {390 | 160 | 180 | 195 | 100 | 296 | 905 | 442 | 100 | 650 | 350 | 390 | 300 | 850 (M32x1.5|M32x1.5| 94.5
40 | 80 | 110|150 | 14 [390 | 160 | 180 | 238 | 100 | 296 1073|610 | 100 | 800 | 380 | 420 | 330 |1000|M40x1.5|M40x1.5| 117
50 [ 95 [125|165| 16 |342|132 (160 | 138|100 | 254|780 |317 [ 80 |550 | 350 | 390 | 300 | 710 |M25x1.5|M20x1.5| 75
50 | 95 [125|165| 16 |342|132 (160 | 145|100 | 254|829 |366 | 80 |590 | 350 | 390 | 300 | 750 |M25x1.5|M20x1.5| 79
50 [ 95 [125|165| 16 (342|132 (160 | 161|100 | 254 851|388 | 80 |590 |350 | 390 | 300 | 750 |M25x1.5|M20x1.5 81.5
50 | 95 [125|165| 16 390|160 | 180 | 195|100 | 296 | 905 | 442 | 100 | 650 | 350 | 390 | 300 | 850 |M32x1.5|M32x1.5| 89
50 [ 95 [125|165| 16 (390|160 (180 | 195 | 100 | 296 | 905 | 442 | 100 | 650 | 350 | 390 | 300 | 850 |M32x1.5|M32x1.5| 94.5
50 | 95 [125|165| 16 |410|160 |200 | 195 | 100 | 296 | 945 | 482 | 100 | 650 | 350 | 390 | 300 | 850 |M32x1.5{M32x1.5| 100
50 [ 95 [125|165| 16 |410| 160 |200 | 238|100 | 296 |1073| 610 | 100 | 800 | 380 | 420 | 330 |{1000|M40x1.5|M40x1.5| 117.5
50 | 95 [125|165| 16 |410 160 |200 | 238|100 | 296 |1073| 610 | 100 | 800 | 380 | 420 | 330 |{1000|M40x1.5|M40x1.5| 125.4
65 [115(145|185| 16 (390|160 | 180 | 161 | 100 | 254 | 851|388 | 80 |590 | 350 | 390 | 300 | 750 |M25x1.5|M20x1.5| 82
65 [ 115(145|185| 16 390|160 | 180 | 195 | 100 | 254 | 905 | 442 | 100 | 650 | 350 | 390 | 300 | 850 |M32x1.5|M32x1.5| 90
65 [ 115(145|185| 16 390|160 | 180 | 195 | 100 | 254 | 905 | 442 | 100 | 650 | 350 | 390 | 300 | 850 |M32x1.5|M32x1.5| 97
65 | 115|145|185| 16 410|160 |200 | 195 | 100 | 296 | 905 | 442 | 100 | 650 | 350 | 390 | 300 | 850 |M32x1.5{M32x1.5| 103
65 [ 115(145|185| 16 |410| 160 (200 | 195 | 100 | 296 | 945 | 482 | 100 | 650 | 350 | 390 | 300 | 850 |M32x1.5|M32x1.5| 107
65 [ 115|145|185| 16 410|160 |200 | 238|100 | 296 |1073| 610 | 100 | 800 | 380 | 420 | 330 [1000|M40x1.5|M40x1.5| 114
65 [ 115|145|185| 16 |410| 160 (200 | 238|100 | 296 |1073| 610 | 100 | 800 | 380 | 420 | 330 [1000|M40x1.5[M40x1.5( 119
65 | 115|145|185| 16 |455|180 (225 | 238|100 | 296 |1073| 610 | 100 | 800 | 380 | 420 | 330 [1000|M40x1.5|M40x1.5 127
65 [ 115|145|185| 16 |455|180 (225 | 238|100 | 296 |1117| 654 | 100 | 800 | 380 | 420 | 330 [1000|M40x1.5{M40x1.5( 139
65 | 115|145|185| 16 |455|180 |225 | 245|100 | 296 |1153| 690 | 100 | 800 | 410 | 450 | 360 [1000|M40x1.5|M40x1.5 182

Model 0|00 |0
DN1| P1 | K1 | D1 | S1
32-125/1.1 | 50 | 95 | 125|165 16
32-160/1.5 | 50 | 95 125|165 16
32-160/2.2 | 50 | 95 125|165 16
32-200/3 50 | 95 [125|165| 16
32-200/4 50 | 95 | 125 (165 16
32-200/55 | 50 | 95 |125|165| 16
32-200/75 | 50 | 95 [ 125|165 16
40-125/15 | 65 |115|145|185| 16
40-125/2.2 | 65 |115|145|185]| 16
40-160/3 65 | 115(145|185| 16
40-160/4 65 | 115|145 (185| 16
40-200/5.5 | 65 |115(145|185| 16
40-200/7.5 | 65 | 115 (145|185 16
40-200/11 65 | 115(145|185| 16
50-125/2.2 | 65 |115|145|185| 16
50-125/3 65 | 115(145|185| 16
50-125/4 65 | 115|145 (185 16
50-160/5.5 | 65 | 115|145(185| 16
50-160/7.5 | 65 | 115|145|185| 16
50-200/9.2 | 65 |115|145(185| 16
50-200/11 65 | 115(145|185]| 16
50-200/15 65 | 115|145|185| 16
65-125/4 80 | 134 (160 |200| 18
65-125/5.5 | 80 |134|160(200| 18
65-125/7.5 | 80 | 134|160 (200 | 18
65-160/7.5 | 80 |134 160|200 | 18
65-160/9.2 | 80 | 134|160 (200 18
65-160/11 | 80 [134 160|200 | 18
65-160/15 | 80 [134 160|200 | 18
65-200/15 80 | 134160 |200| 18
65-200/18.5 | 80 |134 160|200 | 18
65-200/22 80 | 134160 |200| 18

[1] Standard
[2] On request

=
N
)
e
()
)

O O O O 0 0 0 W W W B B B B B B BB BB BB BB BB B B

[N O O O N O N O NS

87



DIMENSION 2 Poles
3LP 65 - 250, 80
B
02 81
P2
N2 o Ll v2 2-63/8
L1117 /
st /
ft o 8918 o
: e
5| & gE = A\ .
2t 3 o S
B «ﬂ'
e E
ot
R ¢ N3
100 £ NI
T N2
Fig. 1
Model Dimensions [mm] Weight
DN1{P1| ki |D1|S1| DN2 (P2|D2|S2| H |Hi1|H2{H3|H4| R (N1 N2|N3| B |[BI|C |G| E | T |S |D4|Sp.| Vi V2 [ka]
65-250/30 | 80 [135|160|200| 22 |65 Fig. 1|120(185 20 |510|200|250(310| 60 |100|530 (590 {460|1343|770(470|396|1000{1200| - |19 | 8 |M50x1.5|M50x1.5| 354
65-250/37 | 80 [135{160200| 22 |65 Fig. 1|120|185| 20 |510{200 (250 (310| 60 |100|530 (590 {460|1343|770(470|396|1000{1200| - |19 | 8 |M50x1.5|M50x1.5| 373
80-160/11 |100(155|180|225| 24 |80 Fig. 2|135|200| 22 |455|180 (225|238 | 50 |125|380 (420 {330(1098(610(360|317| 800 |1000| 20 | 15 | 5 |M40x1.5|M40x1.5| 164
80-160/15R [100(155|180(225| 24 |80 Fig. 2|135|200| 22 |455|180(225|238| 50 [125|380|420{330(1098{610|360|317 | 800 {1000| 20 | 15 | 5 |M40x1.5|M40x1.5| 176
80-160/15 |100(155|180|225| 24 |80 Fig. 2135|200 22 |455|180 (225|238 | 50 |125|380 (420 {330|1098(610(360|317| 800 |{1000| 20 | 15 | 5 |M40x1.5|M40x1.5| 176
80-160/18.5 |100{155(180|225| 24 |80 Fig. 2| 135|200 22 |455|180 (225|238 | 50 |125|380 420 {330|1142 {654 360|317 | 800 {1000| 20 | 15 | 5 |M40x1.5|M40x1.5| 185
80-200/22 100155|180(225| 24 |80 Fig. 2| 135|200 22 (490|180(250|245| 60 [125|530|590 (460 (1288(690|470|320(1000{1200| - |19 [ 8 |M40x1.5|M40x1.5| 252
80-250/37 |100(155(180|225| 24 |80 Fig. 2135|200 22 |540|200|280 (310 60 |125|530|590 (460 (1368|770 |470|396|1000|1200 19 | 8 |M50x1.5M50x1.5| 377
3LP 80 30-45
B
¢ 200 Bl
9135
N8O,
g
24 _
v}
el
EER i
| 1125 470
100
Model Dimensions [mm] Weight
H H1 H2 H3 B B1 G S Vi V2 [kal
80-200/30 510 180 250 310 1368 770 396 20 M50x1.5 M50x1.5 356
80-200/37 510 180 250 310 1368 770 396 20 M50x1.5 M50x1.5 365
80-250/45 565 200 280 335 1398 800 435 25 M50x1.5 M50x1.5 440

88




% E2ARA 3 - SERIES

DIMENSION 2 Poles

3LP 80 - 250/55

1508

% 200 910
8 135 M63x1.5 M63x1.5

8-¢18

¢ 225
9 155
DN100 o
—
'_n.l
"%
#1483
70
& éﬁ\i\
280

—L‘
= S - = — 2
| - & :
i = — g
L l {jm B
[ | i i [ I 3
- I ; 5
125 470 4-923 ‘ 550 w
100 1100 620
1300 680
Weight

3LP 80-250/55: 528 kg

89



e EBARA

3 - SERIES
DIMENSION 4 Poles
3(.)P4 up to 65 - 200 B
R sl
| [H
s

DIMENSIONAL TABLE

Only for L
32-125/0.25

32-160/0.37
32-200/0.55/0.75
40-125/0.37
40-160/0.55

Dimensions [mm] Weight
Model 0|00 |0 z g|0|9|0 lka]
DN1( P1 | K1 |D1|S1|[1]|[2] [DN2| P2 (K2 |D2|S2| H |[HI |H2|{H3| R |A | B |[B1|E |N1T|N2|N3|TT Vi V2
32-125/0.25 50 [ 95 [125(165| 16 | 4 | - [ 32| 75 | 100|140 | 14 |302|112 | 140|112 | 80 |213|688| 245|550 | 300 | 340 | 250 | 710 | M20x1.5 | M16x1.5 | 37
32-160/0.37R | 50 | 95 |125|165| 16 | 4 | - | 32 | 75 (100|140 | 14 [342 (132|160 | 112 | 80 |254|688 |245|510|350(390 | 300 | 670 | M20x1.5 | M16x15 | 41
32-160/0.37 50 [ 95 [125(165| 16 | 4 | - [ 32| 75 | 100|140 | 14 |342|132|160 | 112 | 80 |254 | 688 | 245|510 | 350 [ 390 | 300 | 670 | M20x1.5 | M16x1.5 | 41
32-200/0.55R | 50 | 95 [125|165| 16 | 4 | - |32 | 75|100|140| 14 [390|160|180|129 | 80 |296 | 715|272|510|350 | 390 | 300|670 | M25x1.5 | M20x1.5 | 53.5
32-200/0.55 50 [ 95 [125(165| 16 | 4 | - [ 32| 75| 100|140 | 14 {390 (160|180 (129 | 80 |296 | 715|272 | 510|350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 | 53.5
32-200/0.75 50 [ 95 [125|165| 16 | 4 | - [ 32| 75100 |140| 14 [390|160|180 (129 | 80 |296 | 715|272|510 350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 | 54.5
40-125/0.37R | 65 | 115(145|185| 16 | 4 | - | 40 | 80 [110 (150 | 14 | 302|112 140|112 | 80 | 213|688 | 245|550 | 300 | 340 | 250 | 710 | M20x1.5 | M16x1.5 | 46.5
40-125/0.37 65 [115(145(185| 16 | 4 | - | 40 | 80 | 110 (150 | 14 [302| 112|140 (112 | 80 |213|688| 245|550 |300 | 340 | 250 | 710 | M20x1.5 | M16x1.5 | 46.5
40-160/0.55R | 65 | 115(145|185( 16 | 4 | - | 40 | 80 (110 (150 | 14 | 342|132 (160|129 | 80 | 254 | 715|272 (510 | 350 | 390|300 | 670 | M25x1.5 | M20xL.5 | 44.5
40-160/0.55 65 [115(145(185| 16 | 4 | - | 40 | 80 | 110|150 | 14 [342|132|160 (129 | 80 |254|715|272|510 350|390 | 300|670 | M25x1.5 | M20x15 | 44.5
40-200/1.1R | 65 [ 115(145|185( 16 | 4 | - | 40 | 80 [110 (150 | 14 | 390|160 |180 | 138|100 |296| 780|317 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 61.5
40-200/1.1 65 [115(145(185| 16 | 4 | - | 40 | 80 | 110 (150 | 14 [390| 160|180 (138|100 |296 | 780 | 317|590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 61.5
40-200/1.5 65 (115(145(185| 16 | 4 | - | 40 | 80 | 110 (150 | 14 {390 | 160 |180 | 138|100 |296 | 780|317 |590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 64
50-125/0.55R | 65 |115(145(185| 16 | 4 | - |50 | 95 |125|165| 16 |342|132|160 |129 |100 |254 | 735|272 |510 (350|390 | 300|670 | M25x1.5 | M20x1.5 | 45
50-125/0.55 65 [115(145(185| 16 | 4 | - [ 50 | 95 | 125|165 | 16 |342|132|160 |129 |100 | 254 | 735|272 |510 | 350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 | 45
50-160/1.1R | 65 [115|145|185| 16 | 4 | - |50 | 95 |125|165| 16 |390| 160|180 |138 |100 |296 | 780 | 317|590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 52.5
50-160/1.1 65 [115(145(185| 16 | 4 | - [ 50 | 95 | 125|165 | 16 |390 | 160|180 (138|100 |296 | 780 | 317|590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 52.5
50-200/1.5R | 65 [115(145(185| 16 | 4 | - |50 | 95 |125|165| 16 | 410|160 |200 |138|100 |296 | 780|317 |590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 64
50-200/1.5 65 (115(145(185| 16 | 4 | - [ 50 | 95 |125|165| 16 | 410|160 |200 | 138|100 |296 | 780|317 |590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 64
50-200/2.2 65 (115(145(185| 16 | 4 | - [ 50 | 95 |125|165| 16 | 410|160 |200 | 145|100 | 296 | 829|366 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 70
65-125/0.55 80 (134 (160|200 18 | 8 | 4 | 65 |115|145|185| 16 | 390|160 |180 (129 | 100 | 254 | 735|272 | 510|350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 | 48.5
65-125/0.75 80 [134[160(200| 18 | 8 | 4 | 65 |115|145|185| 16 390|160 | 180|129 |100 | 254 | 735|272|510|350 | 390 | 300 | 670 | M25x1.5 | M20x1.5 | 48.5
65-125/1.1 80 (134 (160|200 18 | 8 | 4 | 65 |115|145(185| 16 390|160 |180 | 138|100 | 254 | 780|317 |590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 56
65-160/1.1 80 [134[160|200| 18 | 8 | 4 | 65 |115|145|185| 16 [ 410|160 |200 |138 |100 |296 | 780|317 |590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 62.5
65-160/1.5 80 |134(160(200| 18 | 8 | 4 | 65 |115|145|185| 16 | 410|160 | 200 (138|100 |296 | 780|317 | 590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x1.5 | 63.5
65-160/2.2 80 [134[160(200| 18 | 8 | 4 | 65 |115|145|185| 16 [ 410|160 |200 |145 |100 |296 | 829|366 |590 | 350 | 390 | 300 | 750 | M25x1.5 | M20x15 | 71.5
65-200/2.2R | 80 134 (160|200| 18 | 8 | 4 | 65 |115|145|185| 16 |455|180 | 225 | 145|100 | 296 | 829 | 366 | 590 | 380 | 420 | 330 | 750 | M25x1.5 | M20x1.5 | 74
65-200/2.2 80 (134[160(200| 18 | 8 | 4 | 65 |115|145|185| 16 |455|180 |225 | 145|100 | 296 | 829 | 366 | 590 | 380 | 420 | 330 | 750 | M25x1.5 | M20x1.5 | 74
65-200/3 80 (134 (160|200 18 | 8 | 4 | 65 |115|145|185| 16 |455 (180|225 |145 | 100 | 296 | 829 | 366 | 590 | 380 | 420 | 330 | 750 | M25x1.5 | M20x15 | 77.5

[1] Standard
[2] On request

90




% E2ARA 3 - SERIES

DIMENSION 4 Poles
3LP4 65 - 250, 80
B
D2 B1
P2
V2
St \
M
pu g
s & g 1 - = e
['e}
pu ud
i s l%l
f
R C 4-¢D4 N3
D E N1
T N2
Model Dimensions [mm] |Weight
DN1| P1 | D1|S1|DN2/ P2 | D2|S2 | H |H1|H2|H3|H4|H5| R |[NT|N2(N3|B |B1|C |D|G|E | T |D4|Sp.| Vi V2 [kal
65-250/4 80 (135(200| 22 | 65 |120|185| 20 |510|200 (250|161 | 60 | 88 | 100 (510|570 (440|961 |388|470|100 (225|760 (960| 19 | 8 [M25x1.5[M20x1.5| 113.5
65-250/5.5 | 80 [135]200| 22 | 65 |120|185| 20 |510|200|250|195| 60 | 68 | 100 |510|570 | 440 (1015|442 |470 {100 |248 | 760 |960| 19 | 8 [M32x1.5|M32x1.5| 130
80-160/1.5 [100|155|225| 24 | 80 135(200| 22 (455(180|225|138| 50 | 90 (125|380 420 (330|805 |317 (360 | 80 |180(590|750| 15 | 5 |M25x1.5|M20x1.5| 80
80-160/2.2R| 100 | 155|225 | 24 | 80 | 135|200 | 22 | 455|180 (225|145 | 50 | 80 | 125|380 |420|330 (854 (366|360 | 80 (196 (590 (750| 15 | 5 [M25x1.5|M20x1.5| 86
80-160/2.2 [100|155|225| 24 | 80 |135(200| 22 [455|180|225|145| 50 | 80 |125|380|420 (330|854 |366 360 | 80 | 196 (590|750 15 | 5 |M25x1.5|M20x1.5| 100.5
80-200/3 | 100 |155(225| 24 | 80 | 135|200 | 22 |490|180|250|145| 60 | 80 | 125|460 |520|390 (964 | 366|470 (100|196 |700{900| 19 | 8 [M25x1.5|M20x1.5| 109.5
80-200/4R |100|155|225( 24 | 80 (135(200| 22 (490 (180|250 161 | 60 | 68 |125|460|520 (390|986 |388 (470(100|225|700|900| 19 | 8 |M25x1.5|M20x1.5( 116.5
80-200/4 | 100|155(225| 24 | 80 | 135|200 | 22 |490|180|250|161 | 60 | 68 | 125|460 (520|390 986|388 |470 (100|225 |700|900| 19 | 8 [M25x1.5|M20x1.5| 117
80-250/5.5R| 100 | 155|225 | 24 | 80 [135(200| 22 (540(200|280|195| 60 | 68 |125|510 |570 | 440 (1040|442 [470|100|248(760(960| 19 | 8 |M32x1.5|M32x15( 134
80-250/5.5 | 100 |155(225| 24 | 80 | 135|200 | 22 | 540|200 |280|195 | 60 | 68 | 125|510 |570 | 440 1040|442 | 470 (100|248 |760({960| 19 | 8 [M32x1.5|M32x1.5| 134.5
80-250/7.5 [100|155|225| 24 | 80 135(200| 22 (540(200|280|195| 60 | 68 |125|510|570 |440 (1080|482 [470 (100|248 760|960 | 19 | 8 |M32x1.5|M32x1.5| 143.5

91



% ESARA 3 - SERIES

DIMENSION 2 Poles
3(.)SF 32, 40, 50
D2
P2
A
N DN2
(%)
|I 4—-¢18 |
! B | 4-M10
& ] f
1 A/ ! & - ¥ : <
| | mol ol o g 2 N
5 & & ] uuunﬂ S . : | f 1
In - ey -
Fig. 1
R C 15 4-¢15
29 70 N1
16 || w N2
| I}
i o [ee]
I ©
Fig. 2 .
25 70|
' 2-¢10
114
Model Dimensions [mm] Weight
Fig. |[DN1 | P1 | K1 | D1 |DN2| P2 | K2 | D2 | s2 | H | H1 | H2 | M | N1 | N | R | A | B | ¢ | Ik
32-125/1.1 1 [ 50 | 95 [ 125 [ 165 [ 32 [ 75 | 100 | 140 | 14 | 252 | 112 | 140 | 114 | 140 | 190 | 80 [ 213 | 118 | 174 | 131
32-160/1.5 1 | 50 | 95 | 125 | 165 | 32 | 75 | 100 | 140 | 14 | 292 | 132 | 160 | 118 | 190 | 240 | 80 | 254 | 130 | 186 | 17
32-160/2.2 1 | 50 | 95 | 125 | 165 | 32 | 75 | 100 | 140 | 14 | 292 | 132 | 160 | 118 | 190 | 240 | 80 | 254 | 130 | 186 | 17
40-125/1.5 1 | 65 | 115 | 145 [ 185 | 40 | 80 | 110 | 150 | 14 | 252 | 112 | 140 | 114 | 160 | 210 | 80 | 213 | 130 | 186 | 14.4
40-125/2.2 1 | 65 | 115 | 145 | 185 | 40 | 80 | 110 | 150 | 14 | 252 | 112 | 140 | 114 | 160 | 210 | 80 | 213 | 130 | 186 | 145
50-125/2.2 2 | 65 | 115 | 145 [ 185 | 50 | 95 | 125 | 165 | 16 | 292 | 132 | 160 | - | 190 | 240 | 100 | 254 | 130 | 186 | 20

92



e EaARA

DIMENSION 2 Poles
3(.)SF 32, 40, 50, 65
B
D2
P2
A
N DN?
w
1
! |
o~
' g
s & 7 A [ T T
|| 1 ' T
) s Q
Fig. 1
R | 4-915
29 W N1
St M N2 |
| 1
Fig. 2
25 W |
M
Dimensions [mm] .
Model z W[‘;('Q;“
Fig. [DN1| P1 | K1 [ D1 | s1 | 11| 121 |[oN2| P2 | k2 [ D2 [s2 | H |Hi|H2 | M [Nt |[N2|R|W|A|B|cC|D|E|F|a|"®
32-200/3 1 | 50|95 |125[165| 16 | 4 | - | 32 | 75 | 100|140 | 14 | 340|160 | 180 | 119 | 190 | 240 | 80 | 70 | 296 | 222 | 142 | 180 | 215 | 250 [M12| 24
32-200/4 1 |50|95|125[165| 16 | 4 32 | 75 (100 | 140 | 14 | 340 | 160|180 | 119 | 190 [ 240 | 80 | 70 | 296 | 222 | 142 | 180 | 215 | 250 [M12| 24
32200655 | 1 |50 | 95 |125[165| 16 | 4 | - | 32 | 75 | 100|140 | 14 |340 | 160 | 180 | 119 | 190 | 240 | 80 | 70 | 296 | 245 | 165 | 230 | 265 | 300 |M12| 28
32200175 | 1 |50 | 95 |125|165| 16 | 4 32 | 75 (100 | 140 | 14 | 340 | 160|180 | 119 | 190 [ 240 | 80 | 70 | 296 | 245 | 165 | 230 | 265 | 300 [M12| 28
40-160/3 1 |65 |115(145[185| 16 | 4 | - | 40 | 80 | 110 | 150 | 14 | 292 [132 [ 160 | 118 | 190 | 240 | 80 | 70 | 254 | 222 [ 142 | 180 | 215 | 250 |[M12| 195
40-160/4 1|65 |115|145|185| 16 | 4 40 | 80 | 110|150 | 14 |292 132|160 | 118|190 [ 240 | 80 | 70 | 254 | 222 | 142 | 180 | 215 | 250 [M12| 20
40-200/55 | 2 | 65 [115|145[185| 16 | 4 | - | 40 | 80 | 110|150 | 14 |340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 265 | 165 | 230 | 265 | 300 |M12| 28
40-200/75 | 2 | 65 115|145 [185| 16 | 4 40 | 80 | 110 | 150 | 14 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 265 | 165 | 230 | 265 | 300 [M12| 28
4020011 | 2 | 65 |115|145[185| 16 | 4 | - | 40 | 80 | 110|150 | 14 | 340|160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 298 | 198 | 250 | 300 | 350 | M16| 41.5
50-125/3 2 | 65| 115|145]185| 16 | 4 50 | 95 | 125 | 165 | 16 | 292 | 132 | 160 | 114 | 190 | 240 | 100 | 70 | 254 | 242 | 142180 | 215 | 250 [M12] 20
50-125/4 2 | 65115 (145|185 | 16 | 4 50 | 95 | 125|165 | 16 |292 | 132|160 | 114 | 190 [ 240 | 100 | 70 | 254 | 242 | 142 | 180 | 215 | 250 [M12| 20
50-160/55 | 2 | 65 | 115|145 |185| 16 | 4 50 | 95 | 125|165 | 16 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 265 | 165 | 230 | 265 | 300 [M12| 28.5
50-160/75 | 2 | 65 115|145 |185| 16 | 4 | - | 50 | 95 | 125|165 | 16 |340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 265 | 165 | 230 | 265 | 300 |M12| 28.5
50-20009.2 | 2 | 65 | 115|145 |185| 16 | 4 50 | 95 | 125|165 | 16 | 360 | 160 | 200 | 115 | 212 | 265 | 100 | 70 | 296 | 265 | 165 | 230 | 265 | 300 [M12| 29
50-200/11 | 2 | 65 |115|145[185| 16 | 4 | - | 50 | 95 | 125|165 | 16 | 360|160 | 200 | 115 | 212 | 265 | 100 | 70 | 296 | 298 | 198 | 250 | 300 | 350 | M16| 415
50-200/15 | 2 | 65 |115|145|185| 16 | 4 50 | 95 | 125|165 | 16 | 360 | 160 | 200 | 115 | 212 | 265 | 100 | 70 | 296 | 298 | 198 | 250 | 300 | 350 [M16| 42.5
65-125/4 2 | 80 | 134160200 18 | 8 | 4 | 65 | 115 | 145|185 | 16 | 340 | 160 | 180 | 140 | 212 | 280 | 100 | 95 | 254 | 242 | 142 | 180 | 215 | 250 [M12| 26
6512555 | 2 | 80 [134(160|200| 18 | 8 | 4 | 65 | 115|145 |185| 16 340|160 | 180 | 140 | 212 | 280 | 100 | 95 | 254 | 265 | 165 | 230 | 265 | 300 |M12| 27.5
65-125/75 | 2 | 80 [134(160|200| 18 | 8 | 4 | 65 | 115|145 |185| 16 |340 | 160 | 180 | 140 | 212 | 280 | 100 | 95 | 254 | 265 | 165 | 230 | 265 | 300 |M12| 28.5
65-160/75 | 2 | 80 [134(160|200| 18 | 8 | 4 | 65 | 115|145 |185| 16 |360 | 160|200 | 140 | 212 | 280 | 100 | 95 | 296 | 265 | 165 | 230 | 265 | 300 [M12| 27
65-160/9.2 | 2 | 80 134|160 |200| 18 | 8 | 4 | 65 | 115|145 |185| 16 |360 | 160 | 200 | 140 | 212 | 280 | 100 | 95 | 296 | 265 | 165 | 230 | 265 | 300 [M12| 30
65-160/11 | 2 | 80 [134(160|200| 18 | 8 | 4 | 65 | 115|145 [185| 16 |360 | 160 | 200 | 140 | 212 [ 280 | 100 | 95 | 296 | 298 | 198 | 250 | 300 | 350 [M16| 40
65-160/15 | 2 | 80 134|160 |200| 18 | 8 | 4 | 65 | 115|145 |185| 16 |360 | 160|200 | 140 | 212 | 280 | 100 | 95 | 296 | 308 | 208 | 250 | 300 | 350 [M16| 42
65-200/15 | 2 | 80 [134]160(200| 18 | 8 | 4 | 65 | 115|145 |185| 16 |405|180 | 225 | 140|250 | 320 | 100 | 95 | 296 | 308 | 208 | 250 | 300 | 350 [M16| 29.5
65-200/18.5 | 2 | 80 134|160 (200 | 18 | 8 | 4 | 65 | 115|145 [185| 16 | 405|180 | 225 | 140 | 250 | 320 | 100 | 95 | 296 | 308 | 208 | 250 | 300 | 350 | M16| 29.5
65200122 | 2 | 80 134|160 |200| 18 | 8 | 4 | 65 | 115|145 |185| 16 | 405|180 | 225 | 140|250 [ 320|100 | 95 | 296 | 308 | 208 | 250 | 300 | 350 [M16| 30

[1] Standard
[2] On request

93



% ESARA 3 - SERIES

DIMENSION 2 Poles
3(.)SF 65 - 250, 80
D2
P2 Al A2
DN2 N 2-G3/8
G 8-918
. o /
L1/
SN =
o al Z - St o] wl o ow - - //
) & =
(< o sGY ©
W 4-¢D3 M1
| %
R C N2
B
DIMENSIONAL TABLE
Model Dimensions [mm] Weight

DN1| P1 [K1|D1|S81| DN2 |P2|D2{S2|H |HI|H2/H3|R|W | NI |N2|M|MI | D3| B|C|D|E]|F G | A1|A2| [ka]
65-250/30 80 135160200 22 |65 Fig.1|120|185| 20 {450 (200|250 | 15 | 100|120 280 (360|160 | 80 | 19 |308 |208 |300 | 350 (400 |4 - M16]|200|200| 70
65-250/37 80 [ 135160200 | 22 | 65Fig. 1|120|185| 20 {450 (200|250 | 15 |100 (120|280 (360|160 | 80 | 19 |308 |208 | 300|350 400 |4 - M16]|200|200| 71
80-160/11 100 | 155 (180|225 | 24 |80 Fig. 2 [ 135|200 | 22 | 405|180 |225| 13 |125| 95 (250|320 125 | 65 | 15 {333 208|250 [ 300 |350 |4 - M16|175|175| 52
80-160/15R | 100|155 |180|225| 24 | 80 Fig. 2 | 135|200 | 22 | 405|180 |225| 13 [125| 95 | 250|320 |125| 65 | 15 | 333|208 |250 [ 300|350 |4 - M16|175|175| 52
80-160/15 100|155 (180 (225 | 24 | 80 Fig. 2 | 135|200 | 22 |405|180|225| 13 [125| 95 [250(320|125| 65 | 15 [333|208|250|300 |350 4 - M16|175 [175| 52
80-160/18.5 | 100 | 155|180 |225| 24 |80 Fig. 2 | 135 (200 | 22 |405|180|225| 13 [125| 95 | 250|320 125 65 | 15 {333 (208|250 | 300 350 |4 - M16|175|175| 53
80-200/22 100|155 (180 (225 | 24 | 80 Fig. 2 | 135|200 | 22 |430|180|250 | 13 [125| 95 |280|345|125| 65 | 15 [ 333|208 250|300 |350 4 - M16|175 (182 | 68
80-200/30 100|155 (180 225 | 24 | 80 Fig. 2| 135|200 | 22 |430|180|250 | 13 [125| 95 |280|345|125| 65 | 15 [ 333|208 |300 | 350 {400 |4 - M16|200 (200 | 72
80-200/37 100 | 155 (180|225 | 24 |80 Fig. 2 [ 135|200 | 22 |430 (180|250 | 13 |125| 95 (280|345 (125 65 | 15 {333 208|300 | 350 [400 |4 - M16|200 {200 | 73
80-250/37 100|155 (180 (225 | 24 | 80 Fig. 2 | 135|200 | 22 |480|200|280 | 15 |125|120|315|400|160 | 80 | 19 |361|236|300 350 [400 |4 - M16|200 {200 | 83
80-250/45 100 | 155 (180|225 | 24 |80 Fig. 2 [ 135|200 | 22 |480 (200 (280 | 15 |125|120 (315|400 (160 | 80 | 19 361 [ 236|350 [ 400 |450 |8 - M16|225|225| 88
80-250/55 100|155 (180 | 225 | 24 | 80 Fig. 2 | 135|200 | 22 |480|200|280 | 15 |125|120|315|400|160 | 80 | 19 |373|248|450|500 |550 (8 - M16|275 |275| 100

94



e EaARA

3 - SERIES

DIMENSION

3(.)SF4 32, 40, 50, 65

S2

D2
P2

DN2

4 Poles

5 —
DIMENSIONAL TABLE
Dimensions [mm]
Model Weight
Fig.[DN1| P1 | K1 |D1|S1|[1] [[2] [DN2| P2 |K2|D2|S2| H |[HI|H2|M |N1|{N2|R(W|(A|B|C|D|E|F|G|X]|Y]|K kg]
32-125/0.25 1|50 (95 (125|165( 16 | 4 | - [ 32| 75|100(140| 14 |252|112|140|114 (140|190 80 | 70 |213 (108|153 |110 (130|160 | M8 [112|140( 8 | 15
32-160/0.37R | 1 |50 [ 95 |125|165| 16 | 4 32| 75 (100|140 14 [292|132|160(118|190(240| 80 | 70 |254|108|153|110|130|160| M8 |112(140| 8 | 195
32-160/0.37 1 |50 (95 (125|165(16 [ 4 | - [32 | 75|100(140| 14 |292 (132|160 118|190 (240 80 | 70 |254 (108|153 (110 (130|160 (M8 [112|140( 8 | 19.5
32-200/0.55R | 1 [ 50 [ 95|125|165| 16 | 4 32| 75 (100|140 14 |340|160(180|119 (190 (240| 80 | 70 |296|118 [174|130|165|200|M10/140(168| 10 | 24
32-200/0.55 1|50 (95 (125|165( 16 | 4 | - [32 | 75|100(140| 14 |340(160|180|119(190|240| 80 | 70 |296 (118|174 |130 (165|200 (M10{140|168| 10 | 24
32-200/0.75 1|50 |95 [125|165| 16 | 4 32| 75 (100|140 14 |340|160(180|119 (190 (240| 80 | 70 |296|118 [174|130|165|200|M10/140(168| 10 | 24
40-125/0.37R | 1 | 65 |115(145(185( 16 | 4 | - |40 | 80 |110 (150 14 |252 (112 |140|114(160|210| 80 | 70 |213|108 {153|110|130(160| M8 |112|140| 8 | 16.5
40-125/0.37 1|65 |115(145|185| 16 | 4 40 | 80 | 110 (150 14 | 252|112 |140|114 {160|210| 80 | 70 |213|108 |153|110|130|160| M8 |112(140| 8 | 16.5
40-160/0.55R | 1 | 65 |115(145|185| 16 | 4 | - |40 | 80 |110 (150 14 |292(132(160|118(190|240| 80 | 70 |254|118 {174 |130|165|200|M10/140(168| 10 | 20
40-160/0.55 1|65 (115(145|185( 16 | 4 40 | 80 | 110 (150 14 |292 (132|160 118 {190|240| 80 | 70 | 254|118 |174|130 (165|200 (M10{140|168| 10 | 20
40-200/1.1R 2 | 65 (115(145|185( 16 | 4 40 | 80 | 110 (150 14 |340(160|180|115|212|265|100| 70 |296 (130|186 |130 (165|200 (M10({140|168 | 10 | 27
40-200/1.1 2 | 65 |115(145|185( 16 | 4 40 | 80 | 110 (150 14 |340{160|180|115|212|265|100| 70 |296 (130|186 |130 (165|200 (M10(140|168| 10 | 27
40-200/1.5 2 | 65 (115(145|185( 16 | 4 | - |40 | 80 |110(150| 14 |340(160|180|115|212|265|100| 70 |296 (130|186 |130 (165|200 M10{140|168| 10 | 27
50-125/0.55R | 2 | 65 |115]145(185| 16 | 4 50 | 95 [125|165| 16 [292|132 (160|114 (190 (240|100 | 70 |254|118 (174 |130|165|200|M10/140{168| 10 | 21
50-125/0.55 2 |65 [115|145|185| 16 | 4 50 | 95 [125|165| 16 |292|132 (160|114 190 (240|100 70 |254|118 (174 |130|165|200|M10/140(168| 10 | 21
50-160/1.1R 2 | 65 [115|145|185| 16 | 4 50 | 95 [125(165| 16 |340|160|180| 115|212 (265|100 70 |296|130|186 |130 (165|200 (M10|140|168| 10 | 26
50-160/1.1 2 |65 [115|145|185| 16 | 4 | - |50 | 95 |125|165| 16 [340(160|180|115|212|265(100| 70 {296 |130|186|130 (165|200 (M10|140|168| 10 | 26
50-200/1.5R 2 | 65 [115|145|185| 16 | 4 50 | 95 [125(165| 16 |360|160|200|115|212|265(100| 70 (296|130|186|130 (165|200 (M10|140|168| 10 | 29.5
50-200/1.5 2 | 65 (115(145|185( 16 | 4 | - |50 | 95 |125(165| 16 |360 (160|200 115|212 |265|100| 70 (296 (130|186 (130 (165|200 (M10{140|168| 10 | 29.5
65-125/0.55 2 |80 (134(160|200| 18 | 8 | 4 |65 |115|145(185| 16 |340|160|180|140(212|280|100| 95 |254|118 |174|130 (165|200 (M10{140|168| 10 | 26
65-125/0.75 2 |80 (134(160|200( 18 | 8 | 4 |65 [115)|145(185| 16 |340(160|180|140(212|280(100| 95 (254 (118|174 (130 (165|200 (M10{140|168| 10 | 27.5
65-125/1.1 2 |80 (134(160|200( 18 | 8 | 4 |65 |115|145(185| 16 |340(160|180|140(212|280|100| 95 (254 (130|186 |130 (165|200 (M10{140|168| 10 | 28.5
65-160/1.1 2 |80 (134(160|200( 18 | 8 | 4 |65 [115|145(185| 16 |360 (160|200 |140(212|280(100| 95 (296 (130|186 (130 (165|200 (M10{140|168| 10 | 29.5
65-160/1.5 2 |80 (134{160|200( 18 | 8 | 4 |65 |115|145(185| 16 |360|160|200|140(212|280|100| 95 |296 (130|186 |130 (165|200 (M10{140|168| 10 | 30

[1] Standard
[2] On request

95



% ESARA 3 - SERIES

DIMENSION 4 Poles
3(.)SF4 50, 65

i

‘A Z-918

o~
T
| o vl O
=l = g L & Q \[ -
= A=Y A A=Y j
8 =\
| 4-M12 |
st 4015
100 | | 142 N
25 w N2
M

DIMENSIONAL TABLE

Dimensions [mm] .
z Weight

DNi | P1 | Kkt | Dt | st | o1 | @1 |one| P2 | ke | D2 | H | W | W2 | M | Nt | N2 | w |
5020022 | 65 | 115 | 145 | 185 | 16 [ 50 | 9 | 125 | 165 | 360 | 160 | 200 | 15 | 212 | 265 | 70 | 295
6516022 | 80 | 134 | 160 | 200 | 18 4 | 65 | 115 | 145 | 185 | 360 | 160 | 200 | 140 | 212 | 280 | 95 | 30
65-20022R| 80 | 134 | 160 | 200 | 18 4 | 65 | 115 | 145 | 185 | 405 | 180 | 225 | 140 | 250 | 320 | 95 | 295
4
4

Model

65-200/2.2 80 134 160 200 18 65 115 145 185 405 180 225 140 250 320 95 295
65-200/3 80 134 160 200 18 65 115 145 185 405 180 225 140 250 320 95 30

[1] Standard
[2] On request

© 0 0o oo|

3LSF4 80
¢ 200
$ 135 147 173
2-G3/8
8-918 '[
SN B
8 88 IEC g
- s s [ 2180
" ) §
2-910 o
e
4-915 65 |
125 250
125 186 15 320
326
- 3LSF4 80-160/1.5: 50,2 kg

96



% E2ARA 3 - SERIES

DIMENSION 4 Poles
3LSF4 65 - 250, 80
D2
P2 Al A2
ON2 N 2-63/8
; 8-918
S l&} é 4-M12 /
A RN T
al a g T ——IT-—- e e 7 T s N
— ' I . X 4_/ =
f < 0 SGN ©
W 4-9D3 M1
hlA N1
R C N2
B
DIMENSIONAL TABLE
Dimensions [mm] Weight

Model DN1| P1 | K1 | D1 | §1 DN2 P2 | D2|S2|H |HI|H2|H3| R |W NI |N2|M M D3| B|C|D|E]|F]|Al|A2]| [kg]

65-250/4 80 (135|160 (200 | 22 | 65Fig.1 [120|185| 20 |450 200|250 | 15 |100 120|280 | 360 {160 | 80 | 19 |252 |152 |180 | 215 | 250 | 175 | 182 | 56.5
65-250/5.5 | 80 |135|160|200| 22 | 65Fig.1 |120|185| 20 |450 |200 | 250 | 15 |100 |120|280|360 | 160 | 80 | 19 | 252 |152 |230 | 265|300 | 175 | 182 | 53.5
80-160/2.2R | 100 [ 155 [ 180 | 225 | 24 | 80Fig.2 | 135|200 | 22 | 405|180 (225 13 [125| 95 | 250 320 [ 125| 65 | 15 |267 | 142|180 | 215|250 | 147 | 173 | 50.5
80-160/2.2 | 100 |155|180|225| 24 | 80Fig.2 |135|200 | 22 | 405|180 |225| 13 |125| 95 (250|320 |125| 65 | 15 | 267 | 142 | 180 | 215 | 250 | 147 [ 173 | 50.5
80-200/3 100 [ 155|180 | 225| 24 | 80Fig.2 |135]200 | 22 {430 (180|250 | 13 [125| 95 | 280|345 |125| 65 | 15 | 277 | 152 | 180 | 215|250 | 175 [ 182 | 59
80-200/4 100 [ 155|180 |225| 24 | 80Fig.2 | 135|200 | 22 [430|180|250 | 13 [125| 95 | 280 |345|125| 65 | 15 |277 [ 152|180 | 215|250 [ 175|182 | 60.5
80-200/4R | 100 | 155|180 | 225| 24 | 80Fig.2 | 135|200 | 22 (430|180 |250 | 13 |125| 95 280 |345|125| 65 | 15 (277|152 | 180 | 215|250 | 175|182 | 60.5
80-250/5.5 | 100 (155|180 |225| 24 | 80Fig.2 |135|200| 22 |480|200|280| 15 |125|120|315|400 |160 | 80 | 19 | 300 |175|230 | 265|300 | 175|192 | 58
80-250/5.5R | 100 | 155 (180 (225 | 24 | 80Fig.2 | 135|200 | 22 |480 | 200|280 [ 15 | 125|120 | 315 400 | 160 | 80 | 19 |300 | 175|230 | 265|300 | 175|192 | 58
80-250/7.5 | 100 (155|180 |225| 24 | 80Fig.2 |135|200| 22 |480|200|280| 15 |125|120 (315|400 |160 | 80 | 19 | 300|175 |230 | 265|300 | 175|192 | 59

97



% ESARA 3 - SERIES

DIMENSION 2 Poles
3(.)PF 32, 40, 50, 65
B 100 ¥
D2
P2
N DN2 E)‘ A
[92]
i )
! 50
= o
(V]
i -
al = g - —
Fig. 1
R | 260 100
29 W 16
st || M 45
=
N | .
Fig. 2 ol o
= =
25 W
! "y
M ad _
Dimensions [mm] .
Model z Wﬁ('g;“
Fig. [DN1| P1 | K1 | D1 | st | |2 |oN2| P2 | k2 D2 |s2| H [ Wi [H2| M [Nt | N2 | R |[W | A]|B]|"
32-125 1 50 95 | 125 | 165 | 16 4 - 32 75 | 100 | 140 | 14 | 252 | 112 | 140 | 114 | 140 | 190 | 80 70 | 213 | 440 17
32-160 1 50 95 | 125 | 165 | 16 4 - 32 75 | 100 | 140 | 14 | 292 | 132 | 160 | 118 | 190 | 240 | 80 70 | 254 | 440 19
32-200 1 50 95 | 125 | 165 | 16 4 - 32 75 | 100 | 140 | 14 | 340 | 160 | 180 | 119 | 190 | 240 | 80 70 | 296 | 440 | 27
40-125 1 65 | 115 | 145 | 185 | 16 4 - 40 80 | 110 | 150 | 14 | 252 | 112 | 140 | 114 | 160 | 210 | 80 70 | 213 | 440 17
40-160 1 65 | 115 | 145 | 185 | 16 4 - 40 80 | 110 | 150 | 14 | 292 | 132 | 160 | 118 | 190 | 240 | 80 70 | 254 | 440 19
40-200 2 65 | 115 | 145 | 185 | 16 4 - 40 80 | 110 | 150 | 14 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 27
50-125 2 65 | 115 | 145 | 185 | 16 4 - 50 95 | 125 | 165 | 16 | 292 | 132 | 160 | 114 | 190 | 240 | 100 [ 70 | 254 | 460 19
50-160 2 65 | 115 | 145 | 185 | 16 4 - 50 95 | 125 | 165 | 16 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 28
50-200 2 65 | 115 | 145 | 185 | 16 4 - 50 95 | 125 | 165 | 16 | 360 | 160 | 200 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 27
65-125 2 80 | 134 | 160 | 200 | 18 8 4 65 | 115 | 145 | 185 | 16 | 340 | 160 | 180 | 140 | 212 | 280 | 100 | 95 | 254 | 460 | 28
65-160 2 80 | 134 | 160 | 200 | 18 8 4 65 | 115 | 145 | 185 | 16 | 360 | 160 | 200 | 140 | 212 | 280 | 100 | 95 | 296 | 460 | 29
65-200 2 80 | 134 | 160 | 200 | 18 8 4 65 | 115 | 145 | 185 | 16 | 405 | 180 | 225 | 140 | 250 | 320 | 100 | 95 | 296 | 460 | 30

[1] Standard
[2] On request

* Space where it is possible to disassemble the pump with coupling spacer without disassembling the motor.

98



% E2ARA 3 - SERIES

DIMENSION 2 Poles
3(.)PF 65 - 250, 80
D2
P2 120 % A A2
2-G3/8
—‘E}— /
8-018 .
T Zi
o I | I - ‘ | 0 /
" & =
4-¢D3 | M1
N1
N2
DIMENSIONAL TABLE
Model Dimensions [mm] Weight

DN1|P1 | K1 |D1|S1| DN2 (P2 |{D2|S2|H HI |[H2|H3| R |W|N1 N2 M |MI|L|L1|D|D3|E|F|A1|A2|B | C | [kg]
65-250 80 [ 135160 [200| 22 | 65 Fig. 1 |120 185 | 20 | 450|200 |250 | 15 100120280 (360|160 | 80 (130| 80 | 32 | 19 | 10 | 35 | 175|182 |570|340| 82
80-160 100|155 (180 (225 | 24 | 80 Fig. 2 | 135|200 | 22 |405|180|225| 13 |125| 95 (250|320 |125| 65 [100| 50 | 24 | 15 | 8 | 27 |147|173|485(260| 60
80-200 100|155 (180 [225| 24 | 80 Fig. 2 | 135|200 | 22 [430|180|250 | 13 |125| 95 (280 |345|125| 65 [130| 80 | 32 [ 15 | 10 | 35 |175(182|595(340| 83
80-250 100 | 155 (180 | 225| 24 | 80 Fig. 2 | 135|200 | 22 | 480|200 {280 | 15 |125|120|315|400 (160 | 80 [130| 80 | 32 | 19 | 10 | 35 |175]192|595|340| 88

* Space where it is possible to disassemble the pump with coupling spacer without disassembling the motor.

99



% ESARA 3 - SERIES

DIMENSION 4 Poles
3(.)PF4 32, 40, 50, 65
B 100 %
D2
P2
N DN2
il
=l 5 = __z;
e = ]
Fig. 1
R
29
St
Fig. 2
25
Dimensions [mm] Weight
Model z lkgl
Fig. [DN1 | P1 | KI | D1 | S1 | [1] | [2] [DN2| P2 | K2 | D2 | S2 | H | Hl [ H2 | M | N1 | N2 | R W | A B
32-125 1 50 | 95 | 125 | 165 | 16 4 - 32 | 75 | 100 | 140 | 14 | 252 | 112 | 140 | 114 | 140 | 190 | 80 | 70 | 213 | 440 | 17
32-160 1 50 | 95 | 125 | 165 | 16 4 32 | 75 | 100 | 140 | 14 | 292 | 132 | 160 | 118 | 190 | 240 | 80 | 70 | 254 | 440 | 19
32-200 1 50 | 95 | 125 | 165 | 16 4 - 32 | 75 | 100 | 140 | 14 | 340 | 160 | 180 | 119 | 190 | 240 | 80 | 70 | 296 | 440 | 27
40-125 1 65 | 115 | 145 | 185 | 16 4 40 | 80 | 110 | 150 | 14 | 252 | 112 | 140 | 114 | 160 | 210 | 80 | 70 | 213 | 440 | 17
40-160 1 65 | 115 | 145 | 185 | 16 4 - 40 | 80 | 110 | 150 | 14 | 292 | 132 | 160 | 118 | 190 | 240 | 80 | 70 | 254 | 440 | 19
40-200 2 65 | 115 | 145 | 185 | 16 4 - 40 | 80 | 110 | 150 | 14 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 27
50-125 2 65 | 115 | 145 | 185 | 16 4 - 50 | 95 | 125 | 165 | 16 | 292 | 132 | 160 | 114 | 190 | 240 | 100 | 70 | 254 | 460 | 19
50-160 2 65 | 115 | 145 | 185 | 16 4 50 | 95 | 125 | 165 | 16 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 28
50-200 2 65 | 115 | 145 | 185 | 16 4 - 50 | 95 | 125 | 165 | 16 | 360 | 160 | 200 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 27
65-125 2 80 | 134 | 160 | 200 | 18 8 4 65 | 115 | 145 | 185 | 16 | 340 | 160 | 180 | 140 | 212 | 280 | 100 | 95 | 254 | 460 | 28
65-160 2 80 | 134 | 160 | 200 | 18 8 4 65 | 115 | 145 | 185 | 16 | 360 | 160 | 200 | 140 | 212 | 280 | 100 | 95 | 296 | 460 | 29
65-200 2 80 | 134 | 160 | 200 | 18 8 4 65 | 115 | 145 | 185 | 16 | 405 | 180 | 225 | 140 | 250 | 320 | 100 | 95 | 296 | 460 | 30

[1] Standard
[2] On request

* Space where it is possible to disassemble the pump with coupling spacer without disassembling the motor.

100



% E2ARA 3 - SERIES

DIMENSION 4 Poles
3LPF4 65 - 250, 80

2-G3/8
= 7

3 N =

E B I\ S l4—/ -

DIMENSIONAL TABLE
Model Dimensions [mm] Weight

DN1| P1 |K1|D1|S1| DN2 |P2|D2|{S2|H |HI|H2|{H3| R |W N1 N2|M |MI|L|[LI|D|D3|E|F |A1|A2|B | C | [kg]
65-250 80 | 135 (160|200 | 22 | 65Fig. 1 |120| 185 | 20 |450|200 (250 | 15 | 100|120 |280|360 (160 | 80 |130| 80 | 32 | 19 | 10 | 35 [ 175|182 570|340 | 82
80-160 100| 155|180 225| 24 | 80 Fig. 2 | 135|200 | 22 |405|180|225| 13 |125| 95 (250|320 |125| 65 [100| 50 | 24 | 15 | 8 | 27 |147|173|485|260| 56
80-200 100 | 155 (180 | 225| 24 | 80 Fig. 2 [ 135|200 | 22 |430 (180|250 | 13 [125| 95 |280|345(125| 65 |130| 80 | 32 | 15 [ 10 | 35 | 175|182 |595 (340 | 83
80-250 100|155 (180 [225| 24 | 80 Fig. 2 | 135|200 | 22 |480|200|280 | 15 | 125|120 (315|400 |160| 80 [130| 80 | 32 | 19 | 10 | 35 |175(192|595(340| 84

* Space where it is possible to disassemble the pump with coupling spacer without disassembling the motor.

101



% ESARA 3 - SERIES

DIMENSION 2 Poles

3(.)S - 3SF Series Coupling
L
b Set screw UNIEN 1SO 4029
_ l - E 1 8 i—
- L1 |
< = =t ———— Y=
DIMENSIONAL TABLE
: Dimensions [mm
Model kw HP Motor size d d1 a2 a3 M [mm] u b h viti

32-125/1.1 11 15 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
32-160/1.5 15 2 90 19 22 24 39 M16x1.5 110 53 8 273 M8x8
32-160/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 273 M8x8
32-200/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 313 M8x8
32-200/4.0 4 55 112 19 22 28 43 M16x1.5 122 63 8 Bk M8x8
32-200/5.5 55 75 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8
32-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8
40-125/1.5 15 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 213 M8x8
40-160/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 313 M8x8
40-160/4.0 4 55 112 19 22 28 43 M16x1.5 122 63 8 313 M8x8
40-200/5.5 55 75 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8
40-200/7.5 75 10 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8
40-200/11 1 15 160 19 22 42 63 M16x1.5 178 114 12 453 M8x8
50-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 213 M8x8
50-125/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 313 M8x8
50-125/4.0 4 55 112 19 22 28 43 M16x1.5 122 63 8 313 M8x8
50-160/5.5 55 75 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8
50-160/7.5 75 10 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8
50-200/9.2 9.2 12.5 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8
50-200/11 1 15 160 19 22 42 63 M16x1.5 178 114 12 453 M8x8
50-200/15 15 20 160 22 22 42 63 M18x1.5 209 114 12 453 M8x8
65-125/4.0 4 55 112 19 22 28 43 M16x1.5 122 63 8 L3 M8x8
65-125/5.5 55 75 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8
65-125/7.5 75 10 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8
65-160/7.5 75 10 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8
65-160/9.2 9.2 12.5 132 19 22 38 58 M16x1.5 145 84 10 413 M8x8
65-160/11 11 15 160 19 22 42 63 M16x1.5 178 114 12 453 M8x8
65-160/15 15 20 160 24 30 42 63 M20x1.5 184 114 12 453 M8x8
65-200/15 15 20 160 24 30 42 63 M20x1.5 184 114 12 453 M8x8
65-200/18.5 185 25 160 24 30 42 63 M20x1.5 184 114 12 453 M8x8
65-200/22 22 30 180 24 30 43 72 M20x1.5 184 114 14 51.8 M10x10
65-250/30 30 40 200 24 30 55 85 M20x1.5 184 114 16 59.3 M12x12
65-250/37 37 50 200 24 30 55 85 M20x1.5 184 114 16 59.3 M12x12
80-160/11 1 15 160 24 30 42 63 M20x1.5 184 114 12 453 M8x8
80-160/15R 15 20 160 24 30 42 63 M20x1.5 184 114 12 453 M8x8
80-160/15 15 20 160 24 30 42 63 M20x1.5 184 114 12 453 M8x8
80-160/18.5 185 25 160 24 30 42 63 M20x1.5 184 114 12 453 M8x8
80-200/22 22 30 180 24 30 48 72 M20x1.5 184 114 14 51.8 M10x10
80-200/30 30 40 200 24 30 55 85 M20x1.5 184 114 16 59.3 M12x12
80-200/37 37 50 200 24 30 55 85 M20x1.5 184 114 16 59.3 M12x12
80-250/37 37 50 200 29 35 55 85 M24x2 206 114 16 59.3 M12x12
80-250/45 45 60 225 29 35 55 85 M24x2 206 114 16 59.3 M12x12
80-250/55 55 75 250 29 35 60 89 M24x2 218 144 18 64.4 M12x12

102



% E2ARA 3 - SERIES

DIMENSION 4 Poles

3(.)S4 - 3SF4  Series Coupling
L
b Sel sorew UNLEN 1SO 4029
] l - s ) 0
] ( L1 |
= = ——-—%E-- — - —t - — - 93
1

DIMENSIONAL TABLE

Model kW HP  |Motorsize| di d2 3 Il?/:mensmns [me] L1 b h Viti
32-125/0.25 0.25 0.33 71 19 22 14 28 M16x1.5 88 33 5 16.3 M5x6
32-160/0.37R 0.37 0.5 71 19 22 14 28 M16x1.5 88 33 5 16.3 M5x6
32-160/0.37 0.37 0.5 71 19 22 14 28 M16x1.5 88 33 5 16.3 M5x6
32-200/0.55R 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
32-200/0.55 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
32-200/0.75 0.75 1 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
40-125/0.37R 0.37 0.5 71 19 22 14 28 M16x1.5 88 33 5 16.3 M5x6
40-125/0.37 0.37 0.5 71 19 22 14 28 M16x1.5 88 33 5 16.3 M5x6
40-160/0.55R 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
40-160/0.55 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
40-200/1.1R 1.1 15 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-200/1.1 1.1 15 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-200/1.5 15 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-125/0.55R 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
50-125/0.55 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
50-160/1.1R 1.1 15 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-160/1.1 1.1 15 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-200/1.5R 15 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-200/1.5 15 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-200/2.2 2.2 3 100 22 22 28 43 M18x1.5 153 63 8 31.3 M8x8
65-125/0.55 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
65-125/0.75 0.75 1 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
65-125/1.1 1.1 15 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
65-160/1.1 1.1 15 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
65-160/1.5 15 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
65-160/2.2 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-200/2.2R 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-200/2.2 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-200/3 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-250/4 4 55 112 24 30 28 43 M20x1.5 128 63 8 31.3 M8x8
65-250/5.5 55 5 132 24 30 38 58 M20x1.5 151 84 10 41.3 M8x8
80-160/1.5 15 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
80-160/2.2R 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 313 M8x8
80-160/2.2 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
80-200/3 3 4 100 24 30 28 43 M20x1.5 128 63 8 31.3 M8x8
80-200/4R 4 55 112 24 30 28 43 M20x1.5 128 63 8 31.3 M8x8
80-200/4 4 5.5 112 24 30 28 43 M20x1.5 128 63 8 31.3 M8x8
80-250/5.5R 55 75 132 24 30 38 58 M20x1.5 151 84 10 41.3 M8x8
80-250/5.5 55 75 132 24 30 38 58 M20x1.5 151 84 10 41.3 M8x8
80-250/7.5 75 10 132 24 30 38 58 M20x1.5 151 84 10 41.3 M8x8

103



% ESARA 3 - SERIES

DIMENSION 2 Poles

3(.)P Series Coupling
b1 3 &

¢

{50 43
PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE
DIMENSIONAL TABLE
Model kW HP Motor size Dimensions [mm]
d1 b1 h1 d2 b2 h2

32-125/1.1 11 15 80 24 8 273 19 6 21.8
32-160/1.5 15 2 90 24 8 27.3 24 8 271.3
32-160/2.2 2.2 3] 90 24 8 27.3 24 8 27.3
32-200/3.0 3 4 100 24 8 273 28 8 313
32-200/4.0 4 55 112 24 8 273 28 8 313
32-200/5.5 55 75 132 24 8 27.3 38 10 41.3
32-200/7.5 7.5 10 132 24 8 27.3 38 10 41.3
40-125/1.5 15 2 90 24 8 273 24 8 27.3
40-125/2.2 2.2 & 90 24 8 27.3 24 8 27.3
40-160/3.0 3 4 100 24 8 27.3 28 8 31.3
40-160/4.0 4 55 112 24 8 213 28 8 313
40-200/5.5 55 75 132 24 8 273 38 10 41.3
40-200/7.5 75 10 132 24 8 271.3 38 10 41.3
40-200/11 1 15 160 24 8 27.3 42 12 453
50-125/2.2 2.2 3 90 24 8 27.3 24 8 273
50-125/3.0 3 4 100 24 8 271.3 28 8 313
50-125/4.0 4 55 112 24 8 271.3 28 8 313
50-160/5.5 55 75 132 24 8 27.3 38 10 41.3
50-160/7.5 75 10 132 24 8 27.3 38 10 413
50-200/9.2 9.2 125 132 24 8 27.3 38 10 41.3
50-200/11 1 15 160 24 8 27.3 42 12 453
50-200/15 15 20 160 24 8 27.3 42 12 453
65-125/4.0 4 55 112 24 8 27.3 28 8 313
65-125/5.5 55 75 132 24 8 27.3 38 10 41.3
65-125/7.5 75 10 132 24 8 27.3 38 10 41.3
65-160/7.5 75 10 132 24 8 27.3 38 10 41.3
65-160/9.2 9.2 125 132 24 8 27.3 38 10 413
65-160/11 11 15 160 24 8 27.3 42 12 453
65-160/15 15 20 160 24 8 27.3 42 12 453
65-200/15 15 20 160 24 8 27.3 42 12 453
65-200/18.5 18.5 25 160 24 8 273 42 12 453
65-200/22 22 30 180 24 8 27.3 48 14 51.8
65-250/30 30 40 200 32 10 353 55 16 59.3
65-250/37 37 50 200 32 10 353 55 16 59.3
80-160/11 11 15 160 24 8 27.3 42 12 453
80-160/15R 15 20 160 24 8 27.3 42 12 453
80-160/15 15 20 160 24 8 27.3 42 12 453
80-160/18.5 18.5 25 160 24 8 273 42 12 453
80-200/22 22 30 180 32 10 8518 48 14 51.8
80-200/30 30 40 200 32 10 35.3 55 16 59.3
80-200/37 37 50 200 32 10 353 55 16 59.3
80-250/37 37 50 200 32 10 353 55 16 59.3
80-250/45 45 60 225 32 10 35.3 55 16 59.3
80-250/55 55 75 250 32 10 353 60 18 64.4

104



% E2ARA 3 - SERIES

DIMENSION 4 Poles

3(.)P4 Series Coupling
b1

h1
d2
h2

d1

@
e

& — s

PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE

DIMENSIONAL TABLE

; Dimensions [mm

Model kW HP Motor size d1 b1 h [ (]‘2 b2 h2
32-125/0.25 0.25 0.33 71 24 8 273 14 5 16.3
32-160/0.37R 0.37 0.5 71 24 8 273 14 5 16.3
32-160/0.37 0.37 0.5 71 24 8 273 14 5 16.3
32-200/0.55R 0.55 0.75 80 24 8 27.3 19 6 21.8
32-200/0.55 0.55 0.75 80 24 8 273 19 6 218
32-200/0.75 0.75 1 80 24 8 273 19 6 21.8
40-125/0.37R 0.37 0.5 71 24 8 273 14 5 16.3
40-125/0.37 0.37 0.5 71 24 8 273 14 5 16.3
40-160/0.55R 0.55 0.75 80 24 8 273 19 6 21.8
40-160/0.55 0.55 0.75 80 24 8 273 19 6 21.8
40-200/1.1R 11 15 90 24 8 27.3 24 8 27.3
40-200/1.1 11 15 90 24 8 27.3 24 8 27.3
40-200/1.5 15 2 90 24 8 273 24 8 273
50-125/0.55R 0.55 0.75 80 24 8 273 19 6 21.8
50-125/0.55 0.55 0.75 80 24 8 273 19 6 218
50-160/1.1R 11 15 90 24 8 273 24 8 273
50-160/1.1 11 15 90 24 8 27.3 24 8 273
50-200/1.5R 15 2 90 24 8 27.3 24 8 273
50-200/1.5 15 2 90 24 8 273 24 8 273
50-200/2.2 2.2 3 100 24 8 27.3 28 8 313
65-125/0.55 0.55 0.75 80 24 8 27.3 19 6 218
65-125/0.75 0.75 1 80 24 8 27.3 19 6 218
65-125/1.1 11 15 90 24 8 273 24 8 273
65-160/1.1 11 15 90 24 8 273 24 8 273
65-160/1.5 15 2 90 24 8 27.3 24 8 27.3
65-160/2.2 22 3 100 24 8 27.3 28 8 313
65-200/2.2R 22 3 100 24 8 27.3 28 8 Bilts)
65-200/2.2 22 3 100 24 8 27.3 28 8 313
65-200/3 8 4 100 24 8 27.3 28 8 Bilke)
65-250/4 4 55 112 32 10 353 28 8 313
65-250/5.5 515 75 132 32 10 53 38 10 413
80-160/1.5 15 2 90 24 8 27.3 24 8 27.3
80-160/2.2R 22 8 100 24 8 27.3 28 8 Bk}
80-160/2.2 22 3 100 24 8 27.3 28 8 313
80-200/3 8 4 100 32 10 53 28 8 313
80-200/4R 4 5.5 112 32 10 35.3 28 8 313
80-200/4 4 55 112 32 10 P53 28 8 313
80-250/5.5R 5.5 75 132 32 10 35.3 38 10 413
80-250/5.5 515 75 132 32 10 35.3 38 10 413
80-250/7.5 7.5 10 132 32 10 35.3 38 10 413

105





